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khjphpj;Njh;T  
nghJ mwpT kw;Wk; nghJ Mq;fpyk; 

 
Fwpg;G: khzth;fs; jq;fsJ ngah;> ifg;Ngrp vz; kw;Wk; gjpT vz;iz 

tpilj;jhspy; (OMR) Fwpg;gpLkhW mwpTWj;jg;gLfpwhh;fs; 
 

Neuk;: 3 kzp         nkhj;j kjpg;ngz;fs;: 300 
 

tpdhf;fSf;F gjpyspf;Fk; Kd; fPo;f;fz;l mwpTiufis ftdkhfg; gbf;fTk; 
 

1. ,e;j tpdhj;njhFg;G> Njh;T njhlq;Ftjw;F 15 epkplq;fSf;F Kd;djhf cq;fSf;F 
toq;fg;gLk; 
 

2. ,e;j tpdhj;njhFg;G 200 tpdhf;fisf; nfhz;Ls;sJ. tpilaspf;fj; njhlq;FKd; 
,t;tpdhj;njhFg;gpy; vy;yh tpdhf;fSk; thpirahf ,lk; ngw;Ws;sdth vd;gijAk;> ,ilapy; 
ntw;Wj;jhs;fs; vitAk; ,y;iy vd;gijAk; cWjp nra;J nfhs;sTk;. tpdhj;njhFg;gpy; 
VNjDk; FiwghL ,Ug;gpd;> mjid Kjy; gj;J epkplq;fSf;Fs; miwf;fz;fhzpg;ghshplk; 
njhptpj;J> rhpahf cs;s NtnwhU tpdhj;njhFg;gpid ngw;Wf;nfhs;s Ntz;Lk;. Njh;T 
njhlq;fpa gpd;G ,J Fwpj;J Kiwapl;lhy; tpdhj;njhFg;G khw;wpj; jug;glkhl;lhJ. 
 

3. vy;yh tpdhf;fSf;Fk; tpilaspf;fTk;> vy;yh tpdhf;fSk; rkkhd kjpg;ngz;fs; nfhz;lit. 
 

4. cq;fSila gjpT vz;iz ,e;jg;gf;fj;jpd; tyJ Nky; %iyapy; mjw;nfd mike;Js;s 
,lj;jpy; ePq;fs; vOj Ntz;Lk;. NtW vijAk; tpdhj;njhFg;gpy; vOjf;$lhJ. 
 

5. tpilj;jhs; xd;W tpilfis Fwpg;gjw;F miwf;fz;fhzpg;ghsuhy; cq;fSf;F toq;fg;gLk;. 
tpilfisf; Fwpg;gJ cs;spl;l mtrpak; gpd;gw;wg;gl Ntz;ba mwpTiufs; tpilj;jhspYk; 
Njh;Tf;$l mDkjpr;rPl;bYk; toq;fg;gl;Ls;sd. 
 

6. cq;fSila tpdhj;njhFg;G vz;iz (Question Booklet Number) tpilj;jhspd; Kjy; gf;fj;jpy; 
mjw;nfd mike;Js;s ,lj;jpy; fUik epw ikAila ge;JKiwg; Ngdhtpdhy; 
Fwpj;Jf;fhl;lNtz;Lk;. tpdhj;njhFg;G vz;iz tpilj;jhspy; rhpahff; Fwpj;Jf;fhl;lj; 
jtwpdhNyh my;yJ Fwpf;fj; jtwpdhNyh cq;fSila tpilj;jhs; nry;yhjjhf;fg;gLk;. 

 
7. xt;nthU tpdhTk; (A) (B) (C) (D) (E) vd Ie;J gjpy;fisf; nfhz;Ls;sJ. ePq;fs; (A) my;yJ 

(B) my;yJ (C) my;yJ (D) ,itfspy; xNu xU rhpahd tpiliaj; njhpT nra;J 
tpilj;jhspy; Fwpj;Jf;fhl;l Ntz;Lk;. xU Nfs;tpf;F xd;Wf;F Nkw;gl;l rhpahd tpil 
,Ug;gjhf ePq;fs; fUjpdhy;> kpfr;rhpahdJ vd ePq;fs; vijf;fUJfpwPh;fNsh me;j tpilia 
tpilj;jhspy; Fwpj;Jf;fhl;l Ntz;Lk;. cq;fSf;F tpil njhpatpy;iy vdpy;> ePq;fs; (E) 
vd;gij mtrpak; epug;gNtz;Lk;. vg;gbahapDk;> xU Nfs;tpf;F xNu xU tpiliaj;jhs; 
Njh;e;njLf;f Ntz;Lk;. ePq;fs; xU Nfs;tpf;F xd;Wf;F Nkw;gl;l tpilaspj;jhy;> mtw;Ws; xU 
tpil rhpahdjhf ,Ue;jhYk; me;j tpil jtwhdjhfNt fUjg;gLk;. 
 

8. ePq;fs; tpdhj;njhFg;gpd; ve;jg; gf;fj;ijAk; ePf;fNth my;yJ fpopf;fNth $lhJ. Njh;T 
Neuj;jpy; ,e;j tpdhj;njhFg;gpidNah my;yJ tpilj;jhisNah Njh;Tf; $lj;ij tpl;L 
ntspapy; vLj;Jr; nry;yf;$lhJ. Njh;T Kbe;jgpd; ePq;fs; cq;fSila tpilj;jhisf; 
fz;fhzpg;ghshplk; nfhLj;J tpl Ntz;Lk;. ,t;tpdhj;njhFg;gpidj; Njh;T Kbe;jTld; ePq;fs; 
cq;fSld; vLj;Jr; nry;yyhk;. 
 

9. Fwpg;Gfs; vOjpg;ghh;g;gjw;F tpdhj;njhFg;gpd; filrp gf;fj;jpw;F Kd;gf;fj;ij cgNahfpj;Jf; 
nfhs;syhk;. ,ijj;jtpu tpdhj;njhFg;gpd; ve;j ,lj;jpYk; ve;jtpj Fwpg;GfisAk; 
vOjf;$lhJ. ,e;j mwpTiu fz;bg;ghf gpd;gw;wg;glNtz;Lk;. 
 

10. Mq;fpy tbtpy; nfhLf;fg;gl;Ls;s Fwpg;Gfs;jhd; KbthdjhFk;. 
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11. ePq;fs; Nkw;fz;l mwpTiufspy; vtw;iwahtJ gpd;gw;wj; jtwpdhy; Njh;thizak; vLf;Fk; 
eltbf;iffSf;F cs;shf NehpLk; vd mwpTWj;jg;gLfpwJ. 
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1. Match the following 
A. Steering Committee     1. Usha Nathsen 
B. Press Gallery Committee    2. Rajendra Prasad 
C. Committee on Chief Commissioner Provinces 3. GV Mavlankar 
D. Committee on functions of constituent assembly 4. B Pattabhi 
Sitaramayya 
 A B C D 
a. 4 1 3 2 
b. 2 1 4 3 
c. 1 3 4 2 
d. 3 1 4 2 
e. Answer not known 
nghUj;Jf. 
A. topfhl;Lf;FO      1. c~h ehj;nrd; 
B. Clf kd;wf; FO     2. uhN[e;jpu gpurhj; 
C. jiyik Mizah; khfhzq;fSf;fhd FO  3. GV khtyq;fhh; 
D. murpayikg;G eph;za rig gzpfs; kPjhd FO 4. B. gl;lhgp rPjhuka;ah 
 A B C D 
a. 4 1 3 2 
b. 2 1 4 3 
c. 1 3 4 2 
d. 3 1 4 2 
e. tpil njhpatpy;iy 
 

2. Consider the following statements regarding Pudhu Vazhvu project  
1. It was launched in November 2005 
2. It is funded by world bank 
3. It is a Anti-poverty scheme 
4. The scheme is implemented in all districts of Tamil Nadu 
a. 1, 2 are correct   b. 1, 2, 3 are correct  c. 2, 3 4 are correct  
d. all are correct  e. Answer not known 
GJ tho;T jpl;lj;ijf; Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. ,J etk;gh; 2005y; njhlq;fg;gl;lJ. 
2. cyf tq;fpapd; epjpahy; nray;gLj;jg;gLfpwJ. 
3. ,J xU tWik xopg;G jpl;lkhFk;. 
4. ,e;j jpl;lk;> jkpo;ehl;bd; midj;J khtl;lq;fspYk; nray;gLj;jg;gLfpwJ. 
a. 1, 2 rhp   b. 1, 2, 3 rhp    c. 2, 3 4 rhp  
d. midj;Jk; rhp  e. tpil njhpatpy;iy 
 

3. In Harappan Civilization, the plough fields have been irrigated using which 
process 
1. Tank irrigation 2. Rain fed 3. Canal irrigation 4. Well irrigation  
a. 1, 2 only  b. 2, 3 only    c. 2, 3, 4 only 
d. 3, 4 only  e. Answer not known 
`ug;gh ehfhpfj;jpy; tay;fspy; ve;j Kiwiag; gad;gLj;jp ePh;g;ghrdk; 
nra;ag;gl;lJ? 
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1. Vhp ePh;   2. kio ePh;  3. fhy;tha;  4. fpzw;W ePh; 
a. 1> 2 kl;Lk; b. 2> 3 kl;Lk;   c. 2> 3> 4 kl;Lk;  
d. 3. 4 kl;Lk; e. tpil njhpatpy;iy 
 

4. According to Gupta Administration, which inscription mention, king is the sole 
proprietor of the land? 
a. Allahabad  b. Sanchi    d. Madhuban 
d. Paharpur  e. Answer not known 
Fg;j eph;thfj;jpd;gb> murNu epyj;jpd; xNu chpikahsh; vd ve;j nrg;NgL 
Fwpg;gpLfpwJ? 
a. myfhghj;  b. rhQ;rp    c. kJghd; 
d. g`h;g+h;  e. tpil njhpatpy;iy 

 
5. Consider the following statements. 

1. Art 370, which provided special status to Jammu and Kashmir, is repealed. 
2. Art 35A defines Permanent Residents of Jammu and Kashmir. 
3. Total number of union Territories at present are 8. 
a. All are correct  b. 2 , 3 are correct  c. 1, 3 are correct  
d. 1, 2 are correct  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk; 
1. [k;K fh~;kPUf;F rpwg;G me;j];J toq;Fk; ~uj;J 370 uj;J nra;ag;gl;lJ. 
2. rl;lf;$W 35A [k;K fh~;kPhpd; epue;ju FbapUg;ghsh;fisg; gw;wp $WfpwJ. 
3. jw;NghJs;s nkhj;j A+dpad; gpuNjrq;fspd; vz;zpf;if 8 
a. midj;Jk; rhp  b. 2> 3 rhp   c. 1> 3 rhp 
d. 1> 2 rhp   e. tpil njhpatpy;iy 
 

6. Which of the following pair is correctly matched? 
i. Form Utility – convertion of cotton into clothes. 
ii. Place Utility – Transportation of rice to Tamilnadu. 
iii. Time Utility – Storage of agricultural commodities 
a. i, ii, iii  b. i, ii     c. ii, iii   
d. i, iii   e. Answer not known 
gpd;tUtdtw;Ws; rhpahfg; nghUe;jpAs;s ,izfs; vit? 
i. tbtg; gad;ghL - gUj;jpia Milfshf khw;WtJ 
ii. ,lg;gad;ghL - mhprpia jkpo;ehl;bw;F nfhz;L nry;Yjy; 
iii. fhyg;gad;ghL - tptrha nghUl;fs; Nrkpg;G 
a. i, ii, iii  b. i, ii     c. ii, iii    
d. i, iii   e. tpil njhpatpy;iy 

 

7. Consider the following statements. 
I. The value of money is directly proportional to the price level. 
II. Internal value of money refers to the purchasing power of money over 

domestic goods and services. 
III. The external value of money refers to the purchasing power of money over 

foreign goods and services. 
a. I, II are correct  b. I only is incorrect c. I, II III are correct  
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d. II, III are incorrect e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
I. gzj;jpd; kjpg;Gk; tpiyapd; msTk; Neu;kiwj; njhlu;GilaJ. 
II. gzj;jpd; mfkjpg;G vd;gJ cs;ehl;bYs;s gz;lkw;Wk; gzpfspd; thq;Fk; 

rf;jpiaf; Fwpf;Fk;. 
III. gzj;jpd; Gwkjpg;G vd;gJ ntsp ehl;bYs;s gz;l kw;Wk; gzpfis 

thq;Fk; rf;jpiaf; Fwpf;Fk;. 
a. I, II rup   b. I kl;Lk; jtW   c. I, II, III rhp  
d. II, III jtW   e. tpil njhpatpy;iy 
 

8. Who wrote the first commentary for Thirukural? 
a. Dharmar   b. Manakudavar  c. Parimel Azhagar   
d. Thamathar   e. Answer not known 
jpUf;FwSf;F Kjd; Kjypy; ciu vOjpath;  
a. jUkh;   b. kzf;Flth;   c. ghpNkyofh;   
d. jhkj;jh;   e. tpil njhpatpy;iy 

 
9. The friendship of one who belongs to  __________ is worth even by paying any 

price 
a. afraid of guilt   b. with king   c. Rich people 
d. The more educated  d. Answer not known 
ahUld; nghUs; nfhLj;jhtJ el;G nfhs;s Ntz;Lk;? 
a. gopf;F ehZfpd;wthplk;  b. murdplk; 
c. kpf;f nry;tk; gilj;Njhhplk; d. nkj;j fy;tp fw;Nwhhplk; 
d. tpil njhpatpy;iy 

 
10. The person who gave the title the „Vaikom Hero‟ to Periyar was 

a. Gandhi  b. Sami Chidambaranar       c. Thiru.Vi.Ka.   
d. Anna  e. Answer not known 

 nghpahUf;F itf;fk; tPuh; vd;W gl;lk; #l;bath; ahh;? 
a. fhe;jp  b. rhkp rpjk;gudhh;   c. jpU.tp.f   
d. mz;zh  e. tpil njhpatpy;iy 

  
11. Choose the incorrect statements from the following statement regarding State 

Health Index 2019-20. 
1. It is released by NITI Aayog. 
2. Tamil Nadu ranked 3rd in 2019-20. 
3. Kerala ranked first while U.P ranked last among Bigger states. 
a. 1, 2    b. 1, 3    c. 2 alone  
d. None of these  e. Answer not known 
2019-20 khepy Rfhjhuf; FwpaPL Fwpj;j gpd;tUk; $w;Wfspy; jtwhd $w;iw / 
$w;Wfisf; fz;lwpf. 
1. ,J epjp MNahf;fhy; ntspaplg;gLfpwJ. 
2. 2019-20 Mk; Mz;by; jkpo;ehL %d;whtJ ,lj;ijg; gpbj;jJ. 
3. nghpa khepyq;fspy;> Nfush Kjyplj;ijAk; cj;jpu gpuNjrk; filrp 

,lj;ijAk; gpbj;Js;sd. 
a. 1, 2    b. 1, 3    c. 2 kl;Lk;   
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d. Nkw;fz;l vJTkpy;iy e. tpil njhpatpy;iy 
12. Match the following 

Council of Minister   Portfolio 
A. Amir-i-Jumla   1. Prime Minister 
B. Wazir-i-Asraf   2. Chief Justice 
C. Peshwa    3. Minister of foreign Affairs 
D. Sadr-i-Jahan   4. Minister of Finance 
 A B C D 
a. 1 2 3 4 
b. 4 3 1 2 
c. 4 3 2 1 
d. 3 4 1 2 
e. Answer not known 
nghUj;Jf 
mikr;Rf;FO    gjtpfs; 
A. mkPh;-,-[{k;yh   1. gpujk mikr;rh; 
B. thrph;-,-m];u/g;   2. jiyik ePjpgjp 
C. Ng~;th    3. ntspAwT Jiw mikr;rh; 
D. rjh;-,-[`hd;   4. epjp mikr;rh; 
 A B C D 
a. 1 2 3 4 
b. 4 3 1 2 
c. 4 3 2 1 
d. 3 4 1 2 
e. tpil njhpatpy;iy 
 

13. Which of the following statements is/are correct? 
1. Coastal plain between Mahanadi and Godavari is known as the northern 

circars. 
2. The Southern part lies between Krishna and Kaveri is called Coromandal 

coast. 
3. Kolleru lake lies between the deltas of Krishna and Kaveri 
4. The pulicat Lake lies in the border of Andhra Pradesh and Tamil Nadu. 
a. 1,2,3,4 are correct   b. 1,2,4 are correct 
c. Only 1,2 are correct  d. Only 2,4 are correct 
e. Answer not known 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. kfhejpf;Fk; Nfhjhtup ejpf;Fk; ,ilg;gl;l gFjp tlru;f;fhu; 

vd;wiof;fg;gLfpwJ. 
2. fpU~;zh kw;Wk; fhNtupf;Fk; ,ilg;gl;l gFjp Nrhokz;ly flw;fiu 

vd;wiof;fg;gLfpwJ. 
3. fpU~;zh Mw;Wf;Fk; fhtpup Mw;Wf;Fk; ,ilNa nfhy;NyU Vup 

mike;Js;sJ. 
4. jkpo;ehL kw;Wk; Me;jpug; gpuNjr vy;iyapy; Gypfhl; Vup mike;Js;sJ. 
a. 1>2>3>4 rhp    b. 1>2>4 rhp   c. 1>2 kl;Lk; rup 
d. 2>4 kl;Lk; rup   e. tpil njhpatpy;iy 
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14. Match the following: 

Rivers   Origin  
A. Indus   1. Nasik  
B. Brahmaputra 2. Raipur 
C. Mahanadi  3. Chemayungdung  
D. Godavari  4. Kailash range  

A B C D 
a. 4 2 3 1 
b. 4 2 1 3 
c. 4 3 2 1 
d. 4 3 1 2 
e. Answer not known 
nghUj;Jf 
MWfs;  Njhd;Wkplk; 
A. rpe;J  1. ehrpf; 
B. gpuk;kGj;jpuh 2. uha;g;G+u; 
C. kfhejp  3. nrk;khAq;lq; 
D. Nfhjhtup  4. ifyhr kiyj;njhlu; 
 A B C D 
a. 4 2 3 1 
b. 4 2 1 3 
c. 4 3 2 1 
d. 4 3 1 2 
e. tpil njhpatpy;iy 
 

15. The purchasing power increases by ____. 
i. Decreasing the price of goods 
ii. Increasing the price of goods 
iii. Increasing the production and supply of goods. 
iv. Decreasing the value of currency. 
a. i, ii    b. ii, iii    c. i, iii   
d. all the above  e. Answer not known 
thq;Fk; jpwd; ______ cld; mjpfhpf;fpwJ 
i. nghUl;fspd; tpiy FiwT 
ii. nghUl;fspd; tpiy mjpfhpg;G 
iii. nghUl;fspd; cw;gj;jp kw;Wk; gfph;it mjpfhpg;gJ 
iv. ehza kjpg;ig Fiwg;gJ 
a. i, ii    b. ii, iii    c. i, iii,   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

16. The population of a town is increasing at the rate of 6% p.a. It was 238765 in the 
year 2018. Find the population in the year 2020. 
a. 286276  b. 268276    c. 248274   
d. 268876  e. Answer not known 
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xU efuj;jpd; kf;fs; njhif Mz;Lf;F 6% mjpfhpf;fpwJ. 2018-Mk; Mz;L 
kf;fs; njhif 238765 – Mf ,Ue;jJ vdpy; 2020-Mk; Mz;bd; kf;fs; 
njhifiaf; fhz;f 
a. 286276  b. 268276    c. 248274   
d. 268876  e. tpil njhpatpy;iy 

 
17. Rekha has 15 square colour papers of sizes 10 cm, 11 cm, 12 cm,…, 24 cm. How 

much area can be decorated with these colour papers?  
a. 4615 cm2  b. 4900 cm2    c. 4156 cm2   
d. 4090 cm2  e. Answer not known 
Nufhtplk; 10 nr.kP> 11 nr.kP> 12 nr.kP> … 24 nr.kP vd;w gf;f msTs;s 15 
rJu tbt tz;zf; fhfpjq;fs; cs;sd. ,e;j tz;zf; fhfpjq;fisf; nfhz;L 
vt;tsT gug;ig milj;J myq;fhpf;f KbAk;? 
a. 4615 cm2  b. 4900 cm2    c. 4156 cm2   
d. 4090 cm2  e. tpil njhpatpy;iy 

 
18. What happens to the area of the parallelogram, if the base is increased 2 times 

and the height is halved?  
a. Decreases to half   b. Remains the same   
c. Increases by two times  d. Decreases by two times 
e. Answer not known 
Xh; ,izfuj;jpd; mbg;gf;fj;ij ,uz;l klq;fhfTk;> cauj;ij ghjpahfTk; 
khw;Wk;NghJ ,izfuj;jpd; gug;gsT vt;thW khWk;? 
a. ghjpahf khWk;   b. khwhJ 
c. ,uz;L klq;fhFk;  d. ,uz;L klq;F FiwAk; 
e. tpil njhpatpy;iy 

 

19. The value of 
3 2 4 3 6

6 3 6 2 8 12
 

  
 is     

a. 3 2   b. 3 2     c. 5 2    

d. 5 3   e. Answer not known 

3 2 4 3 6

6 3 6 2 8 12
 

  
d; kjpg;G 

a. 3 2   b. 3 2     c. 5 2    

d. 5 3   e. tpil njhpatpy;iy 
 
20. How many ways can you answer five TRUE or FALSE questions? 

a. 10   b. 5     c. 25   
d. 32   e. Answer not known 
rhpah? jtwh? $Wf vd 5 Nfs;tpfs; ,Uf;fpd;wd. ,e;j 5 Nfs;tpfSf;Fk; 
nkhj;jkhf vj;jid tpjkhd gjpy;fs; juKbAk;? 
a. 10   b. 5     c. 25    
d. 32   e. tpil njhpatpy;iy 
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21. Which of the following statements about Goods and service tax is/are correct? 
i. The GST bill was passed in parliament on 29 March 2017. 
ii. The act came into force on 1 July 2017. 
iii. It eliminates the cascading effect. 
iv. It is a multi-point tax. 
a. i, ii, iii  b. i, ii     c. iii, iv   
d. ii, iii, iv  e. Answer not known 
gpd;tUk; $w;Wfspy; gz;lq;fs; kw;Wk; gzpfs; tup gw;wp rupahdit vit? 
i. ,e;jpag; ghuhSkd;wj;jpy; khu;r; 29> 2017 Mk; Mz;L ,jd; rl;lk; 

epiwNtw;wg;gl;lJ. 
ii. [_iy 1> 2017 Kjy; eilKiwf;F te;jJ. 
iii. ,J mLf;F tpisTfis ePf;FfpwJ. 
iv. gyKid tup 
a. i, ii, iii  b. i, ii     c. iii, iv   
d. ii, iii, iv  e. tpil njhpatpy;iy 
 

22. Rayagopuram, Kalyanamandapa, becomes an important part of Architecture 
during the period of 
a. Later Cholas  b. Vijayanagar  c. Early Pandyas 
d. Rashtrakutas  e. Answer not known 
uhaNfhGuk;> fy;ahzkz;lgk; Nghd;wit ahUila fhyj;J fl;blf;fiyapd; 
Kf;fpa mq;fkhf tpsq;fpaJ? 
a. gpw;fhy Nrhoh;fs;  b. tp[aefu;   c. Kw;fhy ghz;bah;fs; 
d. ,uh~;bu$lh;fs;  e. tpil njhpatpy;iy 

 
23. Consider the following statements 

1. PIO card scheme was introduced on August 19, 2002 
2. OCI card scheme was introduced from December 2, 2005 
3. Overseas Citizen of India cardholder scheme was introduced by citizenship 

(amendment) act, 2015. 
a. all are correct  b. 2, 3 are correct  c. 1, 2 are correct  
d. 1, 3 are correct  e. Answer not known  
gpd;tUk; $w;Wfis MuhaTk;. 
1. PIO ml;il jpl;lk; Mf];l; 19> 2002y; mwpKfg;gLj;jg;gl;lJ. 
2. OCI ml;il jpl;lk; brk;gh; 2> 2005 Kjy; mwpKfg;gLj;jg;gl;lJ. 
3. may;ehl;L Fbkf;fs; ml;iljhuh; jpl;lk; FbAhpik jpUj;jr; rl;lk; 2015 

My; mwpKfg;gLj;jg;gl;lJ. 
a. midj;Jk; rhp  b. 2> 3 rhp   c. 1> 2 rhp 
d. 1> 3 rhp   e. tpil njhpatpy;iy 

 
24. "Early to bed and early to rise make a man healthy, wealthy and wise" who told 

this quotation?  
a. Benjamin Franklin  b. Albert Einstein    c. Isaac newton  
d. Nicholo Tesla   e. Answer not known 
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'rPf;fpuk; gLf;f nrd;W mjpfhiy vOk; gof;fk; xU kdpjid eyKlDk;> 
tsKlDk; kw;Wk; mwpTlDk; itf;fpwJ" ,k; Nkw;Nfhis ahh; $wpaJ?  
a. ngQ;rkpd; gpuhq;f;spd; b. My;gh;l; Id;];Bd;   c. Irf; epA+l;ld; 
d. epf;Nfhyh nl];yh  e. tpil njhpatpy;iy 

 
25. Consider the following statements regarding TN State Finance Commission 

(SFC). 
1. 5th TN SFC has recommended 10% of state Own Tax revenue to be devolved 

to Local bodies. 
2. Implementation period of 5th TN SFC is 2015-20. 
3. 6th TN SFC is constituted for period 2020-2025. 
a. 1 alone is correct  b. 1, 2 are correct  c. 1, 2, 3 are correct  
d. All are incorrect  e. Answer not known 
jkpo;ehL khepy epjp Mizak; (SFC) Fwpj;j gpd;tUk; $w;Wfis Ma;f. 
1. 5tJ jkpo;ehL SFC khepy thp tUthapy; 10% I cs;shl;rp 

mikg;GfSf;F gfph;e;jspf;f ghpe;Jiuj;Js;sJ. 
2. 5tJ jkpo;ehL SFCd; nray;ghl;L fhyk; 2015 Kjy; 2020 tiu 
3. 6tJ jkpo;ehL SFC, 2020-2025 Mz;LfSf;F mikf;fg;gl;Ls;sJ. 
a. 1 kl;Lk; rhp  b. 1> 2 rhp   c. 1> 2>3 rhp   
d. midj;Jk; jtW  e. tpil njhpatpy;iy 

 
26. An All Parties Conference Met in February 1928, appointed a subcommittee to 

draft a constitution under the chairmanship of _______ 
a. Jawaharlal Nehru  b. Motilal Nehru  c. C.R. Das 
d. Mahatma Gandhi  e. Answer not known 
1928Mk; Mz;L gpg;uthp khjk; midj;J fl;rpfspd; khehL $baJ> 
,k;khehl;by; ahUila jiyikapd; fPo; murpayikg;ig cUthf;f xU 
Jizf;FO epakpf;fg;gl;lJ? 
a. [t`h;yhy; NeU  b. Nkhjpyhy; NeU  c. C.R. jh]; 
d. kfhj;kh fhe;jp  e. tpil njhpatpy;iy 
 
 

27. Choose the correctly matched pair/s regarding Salt Satyagraha 
i. Tamil Nadu  – C. Rajagopalachari 
ii. Malabar - K. Kelappan 
iii. Orissa  - Gopalbandhu Chaudhuri 
iv. Bengal - Subhas Chandra Bose and J.M. Sengupta 
a. i, ii, iii  b. i, iii, iv    c. ii, iv   
d. i, ii, iii, iv  e. Answer not known 
cg;G rj;jpahfpufk; njhlh;ghd rhpahd ,iziaf; fhz;f 
i. jkpo;ehL - C. ,uh[Nfhghyhr;rhhp 
ii. kyghh;  - K. Nfsg;gd; 
iii. xhprh  - Nfhghy;ge;J nrsJhp 
iv. ngq;fhy; - Rgh]; re;jpuNgh]; kw;Wk; J.M. nrd;Fg;jh 
a. i, ii, iii  b. i, iii, iv    c. ii, iv   
d. i, ii, iii, iv  e. tpil njhpatpy;iy 
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28. The district with more Gender inequality in Tamil Nadu is _____. 

a. Nilgiris  b. Ariyalur    c. Chennai   
d. Sivagangai  e. Answer not known 
jkpo;ehl;bd; ve;j khtl;lk; mjpfgl;r ghypd rkkpd;ikiaf; nfhz;Ls;sJ? 
a. ePyfphp  b. mhpaY}h;    c. nrd;id   
d. rptfq;if  e. tpil njhpatpy;iy 

 
29. Consider the following statements 

1. Art 19(1)(f) – Right against deprivation of property. 
2. Art 31 – Right to acquire, hold and dispose off property. 
3. Presently, Right to property is a legal right under Art 300 A in Part XI. 
a. All are right  b. 1, 2 are correct  c. 1, 3 are correct  
d. All are wrong  e. Answer not known 
gpd;tUk; $w;Wfis MuhaTk;. 
1. ~uj;J 19(1) (f) – nrhj;J gwpg;Gf;F vjpuhd chpik. 
2. ~uj;J 31 – nrhj;Jfis ifafg;gLj;j> itj;jpUf;f kw;Wk; 

mfw;Wtjw;fhd chpik. 
3. jw;NghJ> gFjp XI y;  cs;s 300 A gphptpd; fPo; nrhj;Jhpik vd;gJ 

rl;lg;G+h;tkhd chpikahFk;. 
a. midj;Jk; rhp  b. 1> 2 rhp   c. 1> 3 rhp 
d. midj;Jk; jtW  e. tpil njhpatpy;iy 
 

30. Porunai Valley Civilization is ________ years old 
a. 3000 b. 3200 c. 2800  d. 3300 e. Answer not known 
nghUie Mw;wq;fiu ehfhpfk; ________ Mz;Lfs; goikahdJ 
a. 3000 b. 3200 c. 2800  d. 3300 e. tpilnjhpatpy;iy 

 
31. The first state to develop migration tracking system application for migrant 

workers is 
a. Bihar   b. Tamil Nadu  c. Gujarat 
d. Maharashtra  e. Answer not known 
Gyk;ngah; njhopyhsh;fis fz;fhzpf;Fk; nraypia cUthf;fpAs;s Kjy; 
khepyk;> 
a. gPfhh;   b. jkpo;ehL   c. F[uhj; 
d. kfhuh~;buh  e. tpil njhpatpy;iy 

 
32. Consider the following statements about Narasimman Committee 

I. The Narasimman Committee was constituted in 1991. 
II. It was proposed to cut down the SLR from 38.5% to 22% within a time span 

of three years. 
III. It was proposed to reduce CRR about 3 to 5% over a period of four years. 
a. I, II are correct  b. II is incorrect 
c. II, III are correct  d. all the statements are correct 
e. Answer not known 
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eurpk;kd; fkpl;b Fwpj;j gpd;tUk; $w;Wfis Muha;f. 
I. eurpk;kd; FO 1991 ,y; mikf;fg;gl;lJ. 
II. ,f;FO %d;whz;L fhy mstpy; SLR tpfpjj;ij 38.55% ypUe;J 22% Mf 

Fiwf;f gupe;Jiuj;jJ. 
III. ,f;FO CRR tpfpjj;ij ehd;F Mz;Lfspy; 3 Kjy; 5% Mf Fiwf;f 

Kaw;rpj;jJ. 
a. I, II rup   b. II jtW   c. II, III rup   
d. midj;Jk; rup  e. tpil njhpatpy;iy 
 

33. Chennai is referred to as the ____. 
a. Health capital of India   b. Banking capital of India 
c. Detroit of Asia    d. All the above 
e. Answer not known 
nrd;id ____ vd;W miof;fg;gLfpd;wJ. 
a. ,e;jpahtpd; kUj;Jtj; jiyefuk; b. ,e;jpahtpd; tq;fpj; jiyefuk; 
c. Mrpahtpd; nll;uha;l;   d. Nkw;$wpa midj;Jk; 
e. tpil njhpatpy;iy 

 
34. According to latest report of Multi Dimensional Poverty Index. 

1. Tamil Nadu has Fourth lowest Poverty rate with 4.89%. 
2. Bihar – More people in poverty. 
3. Pudukottai in Tamil Nadu is the poorest district. 
a. 1, 2 are correct  b. 2 alone is correct  c. 1, 3 are correct  
d. All are correct  e. Answer not known 
gy;ghpkhz tWik FwpaPl;bd; rkPg mwpf;ifapd;gb> 
1. 4.89% tWik tpfpjj;Jld; jkpo;ehL ehd;fhtJ ,lj;jpy; cs;sJ. 
2. mjpf tWikapYs;s kf;fs; - gPfhh;. 
3. jkpo;ehl;by; mjpfgl;r tWikAs;s khtl;lk;> GJf;Nfhl;il 
a. 1>2 rhp   b. 2 kl;Lk; rhp  c. 1>3 rhp   
d. midj;Jk; rhp  e. tpil njhpatpy;iy 

 
35. Tamil Nadu Heath System Project focuses on ____ 

1. Poor, disadvantaged and tribal groups 
2. Awareness about Non communicable diseases 
3. Tertiary health care facilities 
a. 1, 2   b. 1, 3    c. 2, 3    
d. 1, 2, 3  e. Answer not known 
gpd;tUtdtw;Ws; vtw;wpw;F jkpo;ehL Rfhjhu mikg;Gj; jpl;lk; Kf;fpaj;Jtk; 
jUfpwJ  
1. Viofs;> gpd;jq;fpa kf;fs; kw;Wk; goq;Fbapdh; 
2. njhw;whj Neha;fs; Fwpj;j tpopg;Gzh;T 
3. %d;whk; epiy Rfhjhu trjpfs; 
a. 1, 2   b. 1, 3     c. 2, 3    
d. 1, 2, 3  e. tpil njhpatpy;iy 
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36. Which of the Following books during Mughals are not Autobiography? 
1. Tuzuk-i-Baburi  2. Humayun Nama 
3. Tuzuk-i-Jahangiri  4. Ain-i-Akbari 
a. 1, 2 only  b. 2, 3 only    c. 3, 4 only 
d. 2, 4 only  e. Answer not known 
gpd;tUtdtw;wpy; vJ/vit Kfyhah; fhyj;J Rarhpij my;y? 
1. JRf;-,-ghghp  2. `{kha+d; ehkh 
3. JRf;-,-[`hq;fphp  4. mapd;-,-mf;ghhp 
a. 1> 2 kl;Lk; b. 2> 3 kl;Lk;   c. 3> 4 kl;Lk; 
d. 2> 4 kl;Lk; e. tpil njhpatpy;iy 
 

37. The mean of runs scored by a cricket team in the last 10 innings is 276. If the 
scores are 235, 400, 351, x, 100, 315, 410, 165, 260, 284, then find the runs scored 
in the fourth innings. 
a. 238   b. 273     c. 240    
d. 262  e. Answer not known 
xU fphpf;nfl; mzp filrp 10 Nghl;bfspy; ngw;w Xl;lq;fspd; ruhrhp 276 
MFk;. me;j xl;lq;fs; 235> 400> 351> x, 100> 315> 410> 165> 260 kw;Wk; 284 
vdpy;> me;j mzp 4tJ Nghl;bapy; ngw;w Xl;lq;fisf; fz;Lgpb? 
a. 238   b. 273     c. 240    
d. 262  e. tpil njhpatpy;iy 

 
38. If 'TAMIL' is written as 'WZPHO' In certain code then how 'MATHS' would be 

written in the same code? 
a. LBSHV  b. PZWGV    c. PZHWV   
d. ZWGVP  e. Answer not known 
„TAMIL‟ vd;Dk; nrhy; 'WZPHO' vdf; FwpaPl;lhf;fk; nra;ag;gl;lhy; „MATHS‟ 
vDk; nrhy;Yf;Fhpa FwpaPl;lhf;fk; vJ? 
a. LBSHV  b. PZWGV    c. PZHWV   
d. ZWGVP  e. tpil njhpatpy;iy 

 

39. What percent is 15 paise of 2 rupees 70 paise? 

a.
7

5 %
9

  b. 
5

5 %
9     

c. 
5

4 %
9

   

d. 
4

5 %
9

  e. Answer not known 

2 &gha; 70 igrhtpy; 15 igrh vj;jid rjtPjk;? 

a. 
7

5 %
9

  b. 
5

5 %
9

    c. 
5

4 %
9

   

d. 
4

5 %
9

  e. tpil njhpatpy;iy 

 

40. Vishal deposited ₹ 200 per month for 5 years in a recurring deposit account in a 
post office. If he received ₹ 13,830 find the rate of interest. 
a. 6%   b. 8%     c. 10 %   
d. 12%   e. Answer not known   
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tp~hy; xt;nthU khjj; Jtf;fj;jpYk; ₹ 200I Xh; mQ;ryfj;jpy; 5 
Mz;LfSf;Fr; nrYj;jp te;jhh;. Kbtpy; mth; ₹ 13>830 ngw;whh; vdpy;> tl;b 
tPjk; vd;d? 
a. 6%   b. 8%     c. 10 %   
d. 12%   e. tpil njhpatpy;iy 

 
41. If A exceeds  B by 40%,  B is less than C by 20%, then A : C is :  
 a. 28 : 25  b. 26 : 25    c. 3 : 2   

d. 3 : 1   e. Answer not known 
Ad; kjpg;G B ia tpl 40% mjpfk;> Bapd; kjpg;G C I tpl 20% FiwT 
vdpy; A : C tpfpjk; ahJ? 

 a. 28 : 25  b. 26 : 25    c. 3 : 2   
d. 3 : 1   e. tpil njhpatpy;iy 
 

42. A traveller, who came to India by ship from China, tells about the horses 
imported into southern kingdom by sea from Arabia and Persia. Who is he? 
a. Ibn Battuta   b. Nuniz   c. Abdur Razzak 
d. Marco polo  e. Answer not known  
rPdhtpypUe;J ,e;jpahtpw;F fg;gypy; te;j gazp> mNugpah kw;Wk; 
ngh;rpahtpypUe;J fly; topahf njw;F uh[;[paj;jpw;F ,wf;Fkjp nra;ag;gl;l 
Fjpiu gw;wp Fwpg;gpLfpwhh;. mth; ahh;? 
a. ,gpd; gJ}jh  b. E}dp];   c. mg;Jh; urhf; 
d. khh;Nfh NghNyh  e. tpil njhpatpy;iy 

 
43. From the statement, select the person 

i. The Medieval prince of travellers 
ii. When he came to Tamil Nadu, Sundarapandian was the king 
iii. He has stated the fact that in Tamil Nadu there was a custom of chewing 

betel leaves. 
a. Megasthenes  b. Piliny    c. Ptolemy  
d. Marcopolo   e. Answer not known 
$w;iwf;nfhz;L egiuj; Njh;T nra;f 
i. ,ilf;fhyg; gazpfspd; ,sturh; 
ii. ,th; jkpofk; te;jNghJ Re;jughz;bad;> ghz;ba kd;duhfj; jpfo;e;jhh; 
iii. jkpofj;jpy; ntw;wpiy NghLjy; Kiw ,Ue;jjhf mtuhy; nra;jpfs; 

jug;gl;Ls;sd. 
a. nkf];jdpR  b. gpspdp    c. jhykp 
d. khh;f;NfhNghNyh  e. tpilnjhpatpy;iy 

 
44. Which of the following diseases caused by virus? 

1. Pneumonia   2. Hepatitis   3. Influenza     
4. Salmonellosis   5. Common cold  
a. 1, 2, 3 correct 4, 5 incorrect  b. 2, 3, 5 correct 1, 4 incorrect  
c. 1, 4, 5 correct 2, 3 incorrect  d. 1, 2 5 correct 3, 4 incorrect  
e. Answer not known 
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gpd;tUk; Neha;fSs; vJ itu]pdhy; cUthf;fg;gLfpwJ?  
1. epNkhdpah   2. fy;yPuy; mow;rp    3. ,d;G@ad;rh  
4. rhy;Nkhndy;yhrp]; 5. rhjhuz rsp  
a. 1, 2, 3 rhp 4, 5 rhpay;y   b. 2, 3, 5 rhp 1, 4 rhpay;y  
c. 1, 4, 5 rhp 2, 3 rhpay;y   d. 1, 2, 5 rhp 3, 4 rhpay;y  
e. tpil njhpatpy;iy 
 

45. Which of the following subjects require ratification by half of states for their 
amendment? 
1. Election of President 
2. Fundamental Rights 
3. Supreme Court 
4. Directive Principles of State Policy 
5. GST Council 
6. Number of puisne judges in supreme court 
a. 1, 3, 5   b. 1, 2, 3, 4, 6  c. 1, 2, 3, 4, 5, 6   
d. 1, 2, 3, 6   e. Answer not known  
gpd;tUk; ve;nje;j gFjpfisj; jpUj;jk; nra;a ghjpkhepyq;fspd; xg;Gjy; 
Njit? 
1. FbauRj;jiyth; Njh;jy; 
2. mbg;gil chpikfs; 
3. cr;rePjpkd;wk; 
4. muRf; nfhs;if newpg;gLj;Jk; Nfhl;ghLfs; 
5. GST fTd;rpy; 
6. cr;rePjpkd;w ePjpgjpfspd; vz;zpf;if 
a. 1, 3, 5   b. 1, 2, 3, 4, 6  c. 1, 2, 3, 4, 5, 6 
d. 1, 2, 3, 6   e. tpil njhpatpy;iy 
 

46. Which of the following statements about alternative measures of money supply 
is/are correct? 
i. M1 = Currency, coins and demand deposits. 
ii. M2 = M1 + Time deposits of all commercial and cooperative banks. 
iii. M3 = M2 + Savings deposits with post office saving bank. 
iv. M4 = M3 + Total deposits with post offices. 
a. i and ii   b. iii and iv    c. i and iv  
d. all the above  e. Answer not known 
gpd;tUk; $w;Wfspy; gzmstPLfs; gw;wpa rupahd $w;Wfs; vit? 
i. M1 =  fhfpjg;gzk;> ehzaq;fs; kw;Wk; Nfl;G itg;Gfs;. 
ii. M3 = M1 + midj;J tzpf tq;fpfs; kw;Wk; $l;LwT tq;fpfspYs;s fhy 

itg;Gfs;. 
iii. M3 = M2 + mQ;ryf Nrkpg;G tq;fpapd; Nrkpg;G itg;Gfs;. 
iv. M4 = M3 + mQ;ryfj;jpYs;s midj;J itg;Gfs;. 
a. i kw;Wk; ii   b. iii kw;Wk; iv   c. i kw;Wk; iv  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

47. Which among the following factors affect the velocity of sound? 
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a. Humidity   b. Temperature   c. Density 
d. All the above  e. Answer not known 
fPo;f;fz;ltw;Ws; vJ xypapd; jpirNtfj;ij ghjpf;Fk; fhuzpfs;? 
a. <ug;gjj;jpd; tpisT b. ntg;gepiy   c. mlh;j;jp 
d. Nkw;fz;l midj;Jk; e. tpil njhpatpy;iy 
 

48. The objectives of monetary policy include. 
i. Price stability 
ii. Full employment 
iii. Stability of Exchange Rates 
iv. Equilibrium in the Balance of Payments 
a. i and ii   b. i, ii and iv   c. ii, iii and iv 
d. all the above  e. Answer not known 
gztpay; nfhs;ifapd; Nehf;fq;fs; vit? 
i. tpiyia epiyg;gLj;Jjy; 
ii. KO Ntiytha;g;G 
iii. guptu;j;jid tpfpjj;jpy; epiyj;jd;ik. 
iv. nrYj;Jifr; rkepiyapy; rkepiyia NgZjy;. 
a. i kw;Wk; ii   b. i, ii kw;Wk; iv  c. ii, iii kw;Wk; iv  
d. Nkw;$wpa midj;Jk; e. tpil njhpatpy;iy 
 

49. Consider the following statements. 
1. Delimitation commission is appointed by the President. 
2. The present Delimitation of parliamentary and assembly constituencies is 

based on 1971 census. 
3. The final orders of the commission are subject to judicial review. 
a. all are correct   b. 1, 2 are correct  c. 2, 3 are correct 
d. 1, 3 are correct   e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
1. vy;iy eph;za Mizak; FbauRj;jiytuhy; epakpf;fg;gLfpwJ. 
2. ehlhSkd;w kw;Wk; rl;lkd;w njhFjpfspd; jw;Nghija vy;iy eph;zak; 

1971 kf;fs; njhif fzf;nfLg;gpd; mbg;gilapy; eph;zapf;fg;gl;Ls;sJ. 
3. Mizaj;jpd; ,Wjp cj;juTfs; ePjpj;Jiw kW Ma;Tf;F cl;gl;lit. 
a. midj;Jk; rhp   b. 1> 2 rhp   c. 2> 3 rhp 
d. 1> 3 rhp    e. tpil njhpatpy;iy 
 

50. Who is the author of the following verse, 
„Konguther Vaazhkkai Anjchirai thumbi 
Kaamam Seppaathu Kandathu Mozhimo‟? 
a. Iraiyanaar     b. Paalaipaadiya Perungkadungko 
c. Bharadhampaadiya Perundhevanar d. Devakulaththaar 
e. Answer not known 
„nfhq;FNjh; tho;f;if mQ;rpiwj; Jk;gp  
fhkk; nrg;ghJ fz;lJ nkhopNkh” vd;Dk; ghly; thpfspd; Mrphpah; ahh;?  
a. ,iwadhh;     b. ghiyghba ngUq;fLq;Nfh  
c. ghujk;ghba ngUe;Njtdhh;  d. NjtFyj;jhh;  
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e. tpil njhpatpy;iy 
 
51. Concentration of the Ag+ ions in a saturated solution of Ag2C2O4 is 2.24 ù10-4 

mol L-1 solubility product of Ag2C2O4 is  
a. 2.42 ù 10-8 mol3 L-3  b. 2.66 ù 10-22 mol3 L-3 
c. 4.5 ù 10-11 mol3 L-3  d. 5.619 ù 10-12 mol3L-3 

e. Answer not known 
xU Ag2C2O4 ,d; njtpl;ba fiurypy; cs;s Ag+ madpfspd; nrwpT 12.24 104 
mol L-1 vdpy;> Ag2C2O4 ,d; fiujpwd; ngUf;f kjpg;G  
a. 2.42 ù 10-8 mol3 L-3  b. 2.66 ù 10-22 mol3 L-3 
c. 4.5 ù 10-11 mol3 L-3  d. 5.619 ù 10-12 mol3L-3 

e. tpil njhpatpy;iy 
 
52. Find out the theme of Gopallapurathu Makkal of Rajanarayanan 

a. Freedom movement  b. Rustic Life  c. Urban Life  
d. None of these   e. Answer not known 
uh[ehuhazzpd; Nfhgy;yGuj;J kf;fspd; fijf;fsk; ahJ? 
a. tpLjiy ,af;fk;   b. fpuhkg;Gw tho;T 
c. efh;g;Gw tho;T   d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 

 
53. During Neil Statue Satyagraha, a Satyagraha Committee was constituted under 

Presidentship of _____. 
a. Swaminatha Mudaliar  b. Devanayaga Ayya 
c. N. Somayajulu   d. R. Chidambara Bharati 
e. Answer not known 
ePy;rpiy rj;jpahfpufg; Nghuhl;lj;jpd;NghJ> rj;jpahfpuf FOtpd; jiyikg; 
nghWg;ghsh; _____. 
a. Rthkpehj Kjypahh;  b. Njtehaf Iah 
c. vd;. Nrkhah[PY   d. R. rpjk;gu ghujp 
e. tpil njhpatpy;iy 

 
54. Which of the following pair are correctly matched? 

Hills     Region 
1. Cardamom Hills  - Coromandel Coast 
2. Kaimur Hills  - Konkan Coast 
3. Mahadeo Hills  - Central India 
4. Mikir Hills   - North-East India 
a. 1 and 2  b. 2 and 3   c. 3 and 4   
d. 2 and 4  e. Answer not known 
fPNo nfhLf;fg;gl;ltw;wpy; rhpahdij nghUj;Jf 
kiyfs;    ,lq;fs; 
1. Vyf;fha; kiy - Nrhokz;lyf; flw;fiu 
2. if%h; kiy - nfhq;fdf; flw;fiu 
3. kfhjpNah kiy - kj;jpa ,e;jpah 
4. kpfph; kiy  - tl fpof;F ,e;jpah 
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a. 1 kw;Wk; 2  b. 2 kw;Wk; 3   c. 3 kw;Wk; 4 
c. 2 kw;Wk; 4  e. tpil njhpatpy;iy 

 
55. Choose the correct statements about Khan Abdul Gaffar Khan 

1. He started the first Pushto political weekly „pukhtoon‟ 
2. He organized a volunteer brigade „Khudai Khidmatgars‟ 
3. Khudai Khidmatgars popularly known as the Red shirts who were pledged 

to the freedom struggle and non-violence  
a. 1, 2 only  b. 1, 3 only   c. 2, 3 only   
d. 1, 2 and 3  e. Answer not known 
fhd; mg;Jy; fh/gh; fhd; njhlh;ghd rhpahd $w;Wfis fhz;f 
1. Kjy; gh~;J} murpay; thu ,johd gf;J}d; - I njhlq;fpdhh; 
2. mth; „Fjha; fpj;kj;fh;fs;‟ vDk; jd;dhh;tg; gilia cUthf;fpdhh;. 
3. Rje;jpu Nghuhl;lj;jpw;Fk; mfpk;irf;Fk; cWjpnkhop vLj;j Fjha; 

fpj;kj;fh;fs; rptg;G rl;ilfs; vd;W gpugykhf mwpag;gLfpwhh;fs;. 
a. 1, 2 kl;Lk;  b. 1, 3 kl;Lk;   c. 2, 3 kl;Lk; 
d. 1, 2, 3   e. tpil njhpatpy;iy 
 

56. “Gandhiji‟s body is in jail but his soul is with you. India‟s prestige is now in 
your hands” – This statement said by whom during the Salt Satyagraha 
Movement? 
a. Web Miller   b. Maulana Abulkalam Azad 
c. Sarojini Naidu  d. Vallabhai Patel 
e. Answer not known  
“fhe;jp[papd; cly; rpiwapy; cs;sJ Mdhy; mtuJ Md;kh cq;fSld; 
cs;sJ. ,e;jpahtpd; khdk; ,g;NghJ cq;fs; ifapy;”  - cg;G 
rj;jpahfpufj;jpd; NghJ ,f;$w;wpid $wpath; ahh;? 
a. ntg; kpy;yh;  b. nksyhdh mGy;fyhk; Mrhj; 
c. rNuh[pdp ehaL  d. ty;ygha; gNly; 
e. tpil njhpatpy;iy 
 

57. The GCD and LCM of two polynomials are x + 1 and x6 – 1 respectively. If one 
of the polynomials is x3 + 1, find the other.  
a. (x3 - 1)(x + 1)  b. x3 - 1   c. (x + 1) (x - 1)  
d. x6 – 1    e. Answer not known 
,U gy;YWg;Gf; Nfhitfspd; kP.ngh.t kw;Wk; kP.ngh.k KiwNa x + 1 kw;Wk; x6 
– 1. NkYk;> xU gy;YWg;Gf;Nfhit x3 + 1 vdpy;> kw;nwhd;iwf; fhz;f 
a. (x3 - 1)(x + 1)  b. x3 - 1   c. (x + 1) (x - 1)  
d. x6 – 1   e. tpil njhpatpy;iy 

 
58. Vicky borrowed Rs.26,400 from a bank to buy a scooter at the 

rate of 15% p.a. compounded yearly. What amount will he pay 
at the end of 2 years and 4 months to clear the loan. 
a. ` 36,659.70   b. ` 35,500.10   c. ` 33,560.20  
d. ` 37,500.60   e. Answer not known 
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tpf;fp xU ];$l;liu thq;f xU tq;fpapy; &.26>400 I fldhfg; ngw;whh;. 
Mz;L tl;b 15% tPjk;> Mz;Lf;F xU Kiw tl;biar; Nrh;j;jhhy; 2 
Mz;Lfs; 4 khjq;fs; Md gpd; jd; flid milf;f mth; vt;tsT nrYj;j 
Ntz;Lk;? 
 
a. ` 36,659.70   b. ` 35,500.10   c. ` 33,560.20  
d. ` 37,500.60   e. tpil njhpatpy;iy 

 
59. 8CM@N₤  

If all the vowels are dropped from the above series, which of the following 
would be the eighth element to the right of the thirteenth element from the left 
end? 
a. 4  b. 8  c. %  d. C  e. Answer not known 
8CM@N₤  
NkNy cs;s njhlhpypUe;J midj;J capnuOj;Jf;fisAk; ePf;fpa gpd; 
fpilf;ff; $ba Gjpa njhlhpy; ,lJ KidapypUe;J cs;s 13 MtJ 
cWg;Gf;F tyJ Gwj;jpy; ,Uf;Fk; 8 MtJ cWg;ig fhz;f? 
a. 4  b. 8  c. %  d. C  e. tpil njhpatpy;iy
  

60. Four different electronic devices make a 1 beep after every 30 minutes.  1 hour, 

1
1

2
 hour and 1 hour 45 minutes respectively. All the devices beeped together 

at 12 noon. They will again beep together at: 
a. 12 a.m.  b. 9 a.m.    c. 6 a.m.   
d. 3 a.m.  e. Answer not known 
ehd;F ntt;NtW kpd;dZ cgfuzq;fs; vOg;Gk; xyp ,ilntspfs; KiwNa 
30 epkplq;fs;> 1 kzp 1½ kzp kw;Wk; 1 kzp 45 epkplq;fs;. mit midj;Jk; 
ez;gfy; 12 kzpf;F xd;wpize;J xyp vOg;gpdhy;> mLj;J vg;nghOJ 
xd;wpize;J xyp vOg;Gk; 
a. 12 a.m.  b. 9 a.m.    c. 6 a.m.   
d. 3 a.m.  e. tpil njhpatpy;iy 

 
61. Tamil Nadu has announced to celebrate „Equality day‟ on the birth anniversary 

of 
a. Dr. Ambedkar  b. EVR Periyar  c. Annadurai 
d. Karunanidhi  e. Answer not known 
ahUila gpwe;j jpdj;ij rkj;Jt jpdkhf nfhz;lhl jkpo;ehL muR KbT 
nra;Js;sJ? 
a. lhf;lh; mk;Ngj;fh;  b. <.nt.uh. nghpahh;  c. mz;zhJiu 
d. fUzhepjp   e. tpil njhpatpy;iy 

 
62. Given below are two series with specific pattern  
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 What will come in place of (c) 
 a. 106   b. 111     c. 109   

d. 108   e. Answer not known 
 
 
fPNo nfhLf;fg;gl;l> Fwpg;gpl;l cj;jpfSld; $ba ,U njhlh;fspy; (c)-d; 
kjpg;G ahJ? 

   
 a. 106   b. 111    c. 109  

d. 108   e. tpil njhpatpy;iy 
 

63. Arrange the following mountain ranges from north to south and select the 
correct answer using the code given below 
1. Karakoram Range   2. Ladakh Range 
3. Pir-Panjal Range    4. Zaskar Rage 
a. 1, 2, 3 and 4   b. 2, 1, 4 and 3   c. 2, 1, 3 and 4   
d. 1, 2, 4 and 3  e. Answer not known 
fPo;f;fz;l kiyj;njhlu;fis tlf;F njw;fhf thpirg;gLj;jp> fPNo 
nfhLf;fg;gl;Ls;s FwpaPl;ilg; gad;gLj;jp rhpahd gjpiy Nju;e;njLf;fTk;. 
1. fhuNfhuk; kiyj;njhlu;  2. ylhf; kiyj;njhlu; 
3. gPu;ghQ;ry; kiyj;njhlu;  4. [h];fhh; kiyj;njhlu; 
a. 1> 2> 3 kw;Wk; 4  b. 2> 1> 4 kw;Wk; 3  c. 2> 1> 3 kw;Wk; 4  
d. 1> 2> 4 kw;Wk; 3  e. tpil njhpatpy;iy 
 

64. Consider the following statements. 
1. The chairman of Rajya Sabha can vote in first instance when a resolution for 

his removal is under consideration. 
2. Article 89 – Chairman of Rajya Sabha 
a. Both are correct   b. 1 is correct   c. 2 is correct 
d. Both are wrong   e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
1. uh[;a rgh jiyth;> mtiu ePf;Fjw;fhd jPh;khdk; mitapy; ghprPyidapy; 

cs;sNghJ Kjy; re;jh;gj;jpy; thf;fspf;fyhk;. 
2. ~uj;J 89- uh[;argh jiyth; 
a. ,uz;Lk; rup   b. 1 rhp   c. 2 rhp 
d. ,uz;Lk; jtW   e. tpil njhpatpy;iy 
 

65. Consider the following statements. 
1. Art 324 provides for an independent election commission. 
2. The Election Commission consists of a Chief Election Commissioner and 2 

Election Commissioners. 
3. The Election Commissioners are removed in the same way as removal of 

Judge of the supreme court. 
a. All are correct   b. 1, 2 are correct  c. 2, 3 are correct 
d. 1, 3 are correct   e. Answer not known 
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gpd;tUk; $w;Wfis Muha;f. 
1. ~uj;J 324 Rje;jpukhd Njh;jy; Mizaj;ij toq;FfpwJ. 
2. Njh;jy; Mizak; xU jiyikj; Njh;jy; Mizah; kw;Wk; 2 Njh;jy; 

Mizah;fisf; nfhz;lJ. 
3. Njh;jy; Mizah;fs;> cr;rePjpkd;w ePjpgjp gjtp ePf;fk; NghyNt 

ePf;fg;gLfpwhh;fs;. 
a. midj;Jk; rhp   b. 1> 2 rhp   c. 2> 3 rhp 
d. 1> 3 rhp    e. tpil njhpatpy;iy   
 

66. Periyar was elected as President of Justice party in 
a. 1937 b. 1938 c. 1939  d. 1940 e. Answer not known 
nghpahh; ePjpf;fl;rpj; jiytuhfg; nghWg;Ngw;w Mz;L 
a. 1937 b. 1938 c. 1939  d. 1940 e. tpil njhpatpy;iy 

 
67. Rajendra Chola established a Vedic college which consist of 340 students 

learning Vedas. At present, it is located in the district of 
a. Cuddalore   b. Mayiladuthurai   c. Villupuram 
d. Chengalpattu  e. Answer not known 
,uhN[e;jpu Nrhod; 340 khzth;fs; nfhz;l Ntjghl fy;Y}hpia njhlq;fpdhh;. 
,g;NghJ mJ ve;j khtl;lj;jpy; mike;Js;sJ? 
a. flY}h;   b. kapyhLJiw   c. tpOg;Guk; 
d. nrq;fy;gl;L  e. tpil njhpatpy;iy 
 

68. Match the following 
Maratha families   Places 
A. Gaikwad    1. Gwalior 
B. Bhonsle    2. Indore 
C. Holkar    3. Baroda 
D. Scindia    4. Nagpur 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 3 4 1 2 
d. 2 1 3 4 
e. Answer not known 
nghUj;Jf 
kuhj;jpa FLk;gq;fs;   ,lq;fs; 
A. nfa;f;thl;    1. Fthypah; 
B. Nghd;;];Ny    2. ,e;J}h; 
C. N`hy;fh;    3. gNuhlh 
D. rpe;jpah    4. ehf;g+h; 
 A B C D 
a. 1 2 3 4 
b. 3 4 2 1 
c. 3 4 1 2 
d. 2 1 3 4 
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e. tpil njhpatpy;iy 
 
69. Maruthu Pandyar issued Tiruchirappalli proclamation in ____. 

a. April 1801  b. May 1801    c. June 1801   
d. July 1801  e. Answer not known 
kUJghz;bah; jpUr;rpuhg;gs;sp gpufldk; ntspapl;l Mz;L ____.  
a. Vg;uy; 1801   b. Nk 1801    c. [_d; 1801  
d. [_iy 1801  e. tpil njhpatpy;iy 

 
70. The process of purifying blood by an artificial kidney is called __________ 

a. Haemodialysis  b. peritoneal dialysis   c. CAPD  
d. Haemopoiesis     e. Answer not known   
xh; nraw;if rpWePufj;ijg; gad;gLj;jp ,uj;jkhdJ Rj;jg;gLj;jg;gLtJ 
________ vd;W miof;fg;gLfpwJ.  
a. `pNkhilayprp];  b. nghpNlhdpay; ilayprp];  c. CAPD   
d. P̀NkhNgha;rp];   e. tpil njhpatpy;iy 

 
71. Choose the false statement about Madras Native Association 

a. Its objective was to promote the interests of its members. 
b. Supported Christian missionary activities. 
c. Their focus was on reduction in taxation. 
d. None of these 
e. Answer not known 
nrd;id thrpfs; rq;fk; Fwpj;j jtwhd thf;fpaj;ijf; Njh;T nra;f. 
a. cWg;gpdh;fspd; Mh;tj;ij Nkk;gLj;jr; nra;tNj ,jd; Nehf;fk; 
b. fpwp];bad; kp~dhp nraw;ghLfSf;F MjuT mspj;jJ. 
c. thp Fiwg;G nray;ghLfspy; ftdk; nrYj;jpaJ 
d. vJTkpy;iy 
e. tpil njhpatpy;iy 
 

72. Consider the following statements about constituent assembly 
1. The constituent assembly was setup under the Cabinet Mission Plan, 1945. 
2. The assembly constituted 389 members.  
3. The assembly held its first meeting on 9 December, 1947 
4. HC Mukherjee and VT Krishnamachari were elected as Vice Presidents. 
a. 1 and 2 are correct  b. 2 and 3 are correct  
c. 1 and 3 are correct  d. 2 and 4 are correct 
e. Answer not known 
murpay; eph;za rig njhlh;ghd $w;Wfis Ma;f. 
1. 1945 mikr;ruit J}Jf;FOtpd; fPo; murpayikg;Gr; rig mikf;fg;gl;lJ. 
2. murpayikg;G eph;za rig 389 cWg;gpdh;fisf; nfhz;lJ. 
3. murpayikg;G eph;za rig mjd; Kjy; $l;lj;ij 1947 brk;gh; 9 md;W 

elj;jpaJ. 
4. HC Kfh;[p kw;Wk; VT fpU~;zkhr;rhhp MfpNahh; Jizj; jiytuhf 

Njh;e;njLf;fg;gl;ldh;. 
a. 1, 2 rhp    b. 2, 3 rhp   c.  1, 3 rhp 
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d. 2, 4 rhp    e. tpil njhpatpy;iy 
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73. Consider the following statements regarding Directive Principles of State Policy 
1. The Directive Principles of State Policy are enumerated in Part IV A of the 

Indian Constitution. 
2. As per constitution, it is classified as Gandhian, Socialistic and Liberal 

intellectual. 
3. They aim at promoting Social Welfare of the people. 
4. Jawaharlal Nehru described it as the “Novel features” of the Indian 

Constitution. 
a. 1, 2, 4 are correct   b. 3, 4 are correct  c. 4 only correct 
d. 3 only correct   e. Answer not known 
muRf;F topfhl;Lk; newpKifs; gw;wpa gpd;tUk; $w;Wfis MuhaTk;. 
1. muR nfhs;if newpg;gLj;Jk; Nfhl;ghLfs; ,e;jpa murpayikg;gpd; gFjp IV 

Ay; gl;bay; ,lg;gl;Ls;sd. 
2. murpayikg;gpd;gb ,J rkjh;k mwpTrhh; jhuhsika kw;Wk; fhe;jpaf; 

nfhs;iffs; vd tifg;gLj;jg;gl;Ls;sJ. 
3. ,J kf;fspd; r%f eyid Nkk;gLj;Jtij Nehf;fkhff; nfhz;Ls;sJ. 
4. [t`h;yhy; NeU ,jid ,e;jpa murpayikg;gpd; rpwg;gk;rk; vd 

th;zpj;Js;shh;. 
a. 1, 2, 4 rhp    b. 3, 4 rhp   c. 4 kl;Lk; rhp 
d. 3 kl;Lk; rhp   e. tpil njhpatpy;iy   
 

74. Consider the following statements. 
1. In 1969, Tamil Nadu Government appointed a three-member committee 

under PV Rajamannar. 
2. The committee‟s terms of reference were to examine the entire question of 

centre-state relations. 
3. Dr. A Lakshmanasamy and Dr. P Chandra Reddy were its members. 
4. It submitted its report in 1971. 
a. 1 and 2 are correct  b. 2 and 3 are correct  
c. 1 and 2 are correct  d. All are correct 
e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
1. 1969y; jkpo;ehL muR gp.tp. uh[kd;dhh; jiyikapyhd %d;W 

cWg;gpdh;fisf; nfhz;l FOit mikj;jJ. 
2. FOtpd; Kf;fpa tpjpKiwfshf kj;jpa khepy muRfSf;fpilNaahd 

rpf;fy;fis Ma;T nra;jJ. 
3. lhf;lh; V. yl;Rkzrhkp kw;Wk; lhf;lh; gp. re;jpuh nul;b MfpNahh; mjd; 

cWg;gpdh;fshf ,Ue;jdh;. 
4. ,J 1971y; jdJ mwpf;ifia rkh;g;gpj;jJ. 
a. 1, 2 rhp    b. 2, 3 rhp   c. 1, 2 rhp 
c. midj;Jk; rhp   e. tpil njhpatpy;iy 
 

75. Arrange the Presidents of India in chronological orders. 
1. Zakir Hussain 
2. Neelam Sanjiva Reddy 
3. Fakhruddin Ali Ahmed 
4. VV Giri 
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a. 1, 4, 3, 2   b. 2, 1, 4, 3   c. 3, 1, 4, 2 
d. 1, 4, 2, 3   e. Answer not known 
,e;jpa FbauRj; jiyth;fis fhythpirg;gLj;Jf. 
1. [hfph; `_ird; 
2. ePyk; rQ;rPt nul;b 
3. /gf;UjPd; myp mfkJ 
4. tptp fphp 
a. 1, 4, 3, 2   b. 2, 1, 4, 3   c. 3, 1, 4, 2 
d. 1, 4, 2, 3   e. tpil njhpatpy;iy 
 

76. Consider the following statements. 
1. The Governor is an integral part of the state legislature. 
2. Governor nominates 1/12th of the members of state legislative council. 
a. 1 only correct  b. 2 only correct  c. Both are wrong 
d. Both are correct  e. Answer not known 
gpd;tUk; $w;Wfis Muha;f. 
1. MSeh; khepy rl;lkd;wj;jpd; Xh; xUq;fpize;j mq;fk;. 
2. khepy rl;lNkyit cWg;gpdh;fspy; 1/12 gq;if MSeh; epakpf;fpwhh;. 
a. 1 kl;Lk; rhp  b. 2 kl;Lk; rhp  c. ,uz;Lk; jtW 
d. ,uz;Lk; rhp  e. tpil njhpatpy;iy   
 

77. Which of the following committees were formed between 1978 and 1986 to look 
into various aspects of strengthening the local self-government institutions? 
1. CH Hanumantha Rao Committee 
2. GVK Rao Committee 
3. LM Singhvi Committee 
a. All are correct  b. 1 and 2 are correct c. 2 and 3 are correct 
d. 1 and 3 are correct e. Answer not known 
gpd;tUk; FOf;fspy;> cs;shl;rp muR epWtdq;fspd; gy;NtW mk;rq;fis 
tYg;gLj;Jtjw;fhf 1978 kw;Wk; 1986f;F ,ilNa cUthf;fg;gl;lit vit? 
1. CH mDke;juht; FO 
2. GVK uht; FO 
3. LM rpq;tp FO 
a. midj;Jk; rhp  b. 1 kw;Wk; 2 rhp  c. 2 kw;Wk; 3 rhp 
d. 1 kw;Wk; 3 rhp  e. tpil njhpatpy;iy 
 

78. The volume of a cylindrical water tank is 1.078 × 106 litres. If the diameter of 
the tank is 7 m, find its height. 
a.7 cm   b. 14 cm    c. 28 cm   
d. 32 cm  e. Answer not known 
Xh; cUis tbt jz;zPh; njhl;bapd; fd msT 1.078 x 106 ypl;lh; MFk;. 
njhl;bapd; tpl;lk; 7 kP vdpy;> mjd; cauk; fhz;f 
a.7 cm   b. 14 cm    c. 28 cm   
d. 32 cm  e. tpil njhpatpy;iy 
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79. 1/48 of a work is completed in half a day by 5 persons. Then, 1/40 of the work, 
can be completed by 6 persons in how many days? 

 a. 1  b. 2  c. 3  d. ½   e. Answer not known 
5 egh;fs; 1/48 gq;F Ntiyia miuehspy; Kbf;fpd;wdh;. ,g;nghOJ 6 
egh;fs; 1/40 gq;F Ntiyia vj;jid ehl;fspy; Kbg;gh;? 

 a. 1  b. 2  c. 3  d. ½  e. tpil njhpatpy;iy 
 

80. A woman bought some eggs at the rate of 4 eggs for ₹18 and sold them at the 

rate of 5 eggs for ₹24. She gained ₹90 in selling all the eggs. How many eggs 
did she buy? 
a. 300   b. 200     c. 240    
d. 90   e. Answer not known 
xU ngz; 4 Kl;ilfis ₹ 18 tPjk; thq;fp 5 Kl;ilfis ₹ 24 tPjk; 
tpw;fpwhs;. thq;fpa midj;J Kl;ilfisAk; tpw;wjpy; mth; ₹ 90I ,yhgkhfg; 
ngw;whs; vdpy;> mts; thq;fpa Kl;ilfspd; vz;zpf;if vt;tsT? 
a. 300   b. 200     c. 240    
d. 90   e. tpil njhpatpy;iy 

 
81. A is twice as good a workman as B and together they finish a piece of work 

in 14 days. In how many days can A alone finish the work? 
a. 42   b. 21     c. 12   
d. 6   e. Answer not known 
A, B Ig; Nghy ,uz;L klq;F jpwikahd ey;y Ntiyahs;. mth;fs; ,UtUk; 
xU Ntiyia> 14 ehl;fspy; Kbf;fpwhh;fs;. A kl;Lk; mt;Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;? 
a. 42   b. 21     c. 12    
d. 6   e. tpil njhpatpy;iy 

 
82. Find the LCM of  2x2 – 5x – 3,4x2 – 36  

a. 4(x – 3) (x + 3)   b. 4(x – 3) (2x + 1)   
c. 4(x – 3) (x + 3) (2x + 1)  d. 4(x – 3) (x + 3) (x - 1) 
e. Answer not known 
2x2 – 5x – 3,4x2 – 36 kP.ngh.k fhz;f 
a. 4(x – 3) (x + 3)   b. 4(x – 3) (2x + 1)   
c. 4(x – 3) (x + 3) (2x + 1)  d. 4(x – 3) (x + 3) (x - 1) 
e. tpil njhpatpy;iy 
 

83. Match the following 
Subjects      Source Constitution 
A. Concurrent list     1. French 
B. Republic      2. South Africa 
C. Election of members of Rajya Sabha  3. Australia 
D. Strong Centre     4. Canada 

  



 

27 | Page  044-24339436, 42867555, 9840226187 
 

 A B C D 
a. 4 2 1 3 
b. 4 1 2 3 
c. 1 3 2 4 
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf. 
gFjpfs;       murpayikg;G %yq;fs; 
A. nghJg;gl;bay;      1. gpnuQ;R 
B. FbauR       2. njd;dhg;gphpf;fh 
C. khepyq;fsit cWg;gpdh;fSf;fhd Njh;jy;  3. M];jpNuypah 
D. tYthd kj;jp muR     4. fdlh 

A B C D 
a. 4 2 1 3 
b. 4 1 2 3 
c. 1 3 2 4 
d. 3 1 2 4 
e. tpil njhpatpy;iy 

 
84. Choose correct statement  

1. National Organ Donation Day – November 27 
2. International Organ Donation Day – August 13 
a. 1 only    b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2   e. Answer not known 
rhpahd $w;iw/$w;Wfisf; fz;lwpf. 
1. Njrpa cly; cWg;G jhd jpdk; - etk;gh; 27 
2. rh;tNjr cly; cWg;G jhd jpdk; - Mf];l; 13 
a. 1 kl;Lk;    b. 2 kl;Lk;   
c. 1 kw;Wk; 2 ,uz;Lk;   d. 1 kw;Wk; 2 ,uz;Lky;y 
e. tpil njhpatpy;iy 

 
85. All projects related to poverty alleviation and development implemented by 

Tamilnadu Corporation for Development of Women and World Bank are the 
improved versions of _____ 
a. Mahalir Thittam    b. Pudhu Vazhvu Project 
c. Vazhnthu Kaatuvom Project  d. Both b and c 
e. Answer not known 
jkpo;ehL kfsph; Nkk;ghl;L epWtdk; kw;Wk; cyf tq;fp %yk; 
nray;gLj;jg;gLk; tWik xopg;G kw;Wk; Nkk;ghL njhlh;ghd midj;Jj; 
jpl;lq;fSk; _____ apd; Nkk;gLj;jg;gl;l jpl;lNk MFk;. 
a. kfsph; jpl;lk;    b. GJ tho;T jpl;lk; 
c. tho;e;J fhl;LNthk; jpl;lk;  d. b kw;Wk; c 
e. tpil njhpatpy;iy 
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86. Find the scheme with following objectives 
1. Road connecting unconnected habitations, irrespective of population  
2. Upgrading mini-bus plying roads 
3. Link roads connecting market places, education, health services 
a. THAI scheme  b. Chief Minister Road Development Programme 
c. TNRRIS scheme  d. PMGSY 
e. Answer not known 
fPo;f;fz;ltw;iwf; Fwpf;Nfhshff; nfhz;l jpl;lk; vJ? 
1. kf;fs; njhifiag; nghUl;gLj;jhky;> ,izf;fg;glhj fpuhkq;fis 

rhiy trjpfs; %yk; ,izj;jy;. 
2. rpw;We;J XLk; rhiyfis Nkk;gLj;Jjy; 
3. re;ij ,lq;fs;> fy;tp> Rfhjhu Nritfis rhiy %yk; ,izj;jy; 
a. THAI jpl;lk;  b. Kjyikr;rh; rhiy Nkk;ghL jpl;lk; 
c. TNRRIS jpl;lk;  d. PMGSY 
e. tpil njhpatpy;iy 

 
87. Consider the following statements : The 760 km long Konkan railway passes 

through the following states: 
i. Kerala  ii. Karnataka  iii. Goa  iv. Maharastra 
a. i, ii, iii and iv   b. i and ii   c. i and iii  
d. i, ii and iii are correct  e. Answer not known 
fPo;fz;l thf;fpaj;ij ftdp: 760 fp.kP ePsKila nfhq;fd; uapy; fPo;fz;l ve;j 
khepyq;fis flf;fpwJ? 
i. Nfush  ii. fu;ehlfh  iii. Nfhth  iv. kfhuh~;buh 
a. i, ii, iii kw;Wk; iv   b. i kw;Wk; ii   c. i kw;Wk; iii  
d. i, ii kw;Wk; iii rhpahdJ  e. tpil njhpatpy;iy 

 

88. Which is referred as the “Second King of the Nation” by Mahatma Gandhi? 
a. Villages   b. Spinning Wheel   c. Salt 
d. Cottage industries e. Answer not known 
fhe;jpahy; „Njrj;jpd; ,uz;lhtJ kd;dh;‟ vd;W Fwpg;gplg;gl;lJ vJ? 
a. fpuhkq;fs;   b. E}w;Gr; rf;fuk;   c. cg;G 
d. Fbir njhopy;fs; e. tpil njhpatpy;iy 
 

89. Who conceived the Nai Talim or Basic education for all in 1937? 
a. Vallabhai Patel   b. C. Rajagopalachari 
c. Mahatma Gandhi   d. Jawaharlal Nehru 
e. Answer not known 
1937Mk; Mz;L midtUf;Fkhd ie jyPk; my;yJ mbg;gil fy;tp Kiwia 
cUthf;fpath; ahh;? 
a. ty;ygha; gNly;   b. C. ,uh[Nfhghyhr;rhhp 
c. kfhj;kh fhe;jp   d. [t`h;yhy; NeU 
e. tpil njhpatpy;iy 
 

90. Who was the first satyagrahi of the Individual Satyagraha in Tamil Nadu? 
a. K. Kamaraj  b. S. Satyamoorthy  c. C. Rajagopalachari 
d. T.S.S. Rajan e. Answer not known 
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jkpo;ehl;by; jdpegh; rj;jpahfpufj;jpd; Kjy; rj;jpahfpufp ahh;?  
a. K. fhkuh[h; b. S. rj;jpa%h;j;jp  c. C. ,uh[Nfhghyhr;rhhp 
d. T.S.S. ,uh[d; e. tpil njhpatpy;iy 

 
91. Which of the following statements is incorrect with respect to Alluvial Soil? 

a. Frequently inundated by floods during the rainy season 
b. Low nitrogen and varying percentage of calcium carbonate 
c. The colour of the alluvial soils varies from light grey to dark grey 
d. Rich in humus phosphoric acid, lime and organic matter 
e. Answer not known 
tz;ly; kz;iz nghWj;jtiu gpd;tUk; ve;j $w;W jtwhdJ? 
a. kiof; fhyq;fspy; mbf;fb nts;sj;jhy; %o;Fk; 
b. Fiwe;j iel;u[d; kw;Wk; fhy;rpak; fhh;gNdl;bd; khWgl;l rjtPjk; 
c. kz;zpd; epwk; ntsph; rhk;gy; Kjy; mlh; rhk;gy; tiu khWgLk; 
d. kl;fpa> gh];Nghhpf; mkpyk;> Rz;zhk;G kw;Wk; fhpkg; nghUl;fs; epiwe;jit 
e. tpil njhpatpy;iy 

 
92. Which of the following statements about Bhutia tribal group is/are correct? 

i. Bhutia tribes are of the Tibetan origin. 
ii. In Sikkim, they are known as Manji. 
iii. Bhutia forms 14% of the total population of Sikkim.  

a. i, ii and iii   b. i and ii   c. i and iii   
d. ii and iii   e. Answer not known 
G+l;bah goq;Fbapdh; Fwpj;j $w;Wfspy; vJ / vit rhpahdJ. 

i. G+l;bah goq;Fbapdh; jpngj;jpa tk;rhtspiar; Nrh;e;jth;fs;  
ii. rpf;fpkpy;> mth;fs; kQ;rp vd;W miof;fg;gLfpwhh;fs;  
iii. G+l;bah goq;Fbapdh; rpf;fpkpd;; nkhj;j kf;fs; njhifapy; 14% 

Mth;.  
a. i, ii kw;Wk; iii  b. i kw;Wk; ii    c. i kw;Wk; iii  
d. ii kw;Wk; iii   e. tpil njhpatpy;iy 

 
93. The quality of which fuel is known by Octane number. 

a. Petrol   b. Kerosene    c. LPG   
d. All of these  e. Answer not known 
Mf;Nld; vz; %yk; ve;j vhpnghUspd; juj;ij mwpayhk;? 
a. ngl;Nuhy;   b. kz;nzz;nza;   c. vy;.gp[p  
d. ,it midj;Jk;  e. tpil njhpatpy;iy 

 
94. Why do cloud appear white in colour? 

a. Rayleigh Scattering b. Mie-Scattering 
c. Raman Scattering  d. Tyndall Scattering 
e. Answer not known 
Nkff;$l;lq;fs; ntz;ik epwkhff; fhl;rpaspf;f fhuzk; vd;d? 
a. uhNy xspr;rpjwy;  b. kP - xspr;rpjwy; 
c. uhkd; xspr;rpjwy;  d. bd;lhy; xspr;rpjwy; 
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e. tpil njhpatpy;iy 
95. Neelaveni goes by bi-cycle to her school every day. Her average speed is 

12km/hr and she reaches school in 20 minutes. What is the increase in speed, if 
she reaches the school in 15 minutes?  
a. 4 km/hr  b. 8 km/hr    c. 1 km/hr   
d. 5 km/hr  e. Answer not known 
ePyNtzp jpde;NjhWk; kpjptz;bapy; gs;spf;Fr; nry;fpwhs;. mtsJ ruhrhp 
Ntfk; 12 fp.kP / kzp Mf ,Ue;jhy;> mts; gs;spiar; nrd;wila 20 
epkplq;fs; MfpwJ. mts; 15 epkplj;jpy; gs;spiar; nrd;wile;jhy; mtsJ 
mjpfhpj;j Ntfk; vt;tsT?  
a. 4 km/hr  b. 8 km/hr    c. 1 km/hr   
d. 5 km/hr  e. tpil njhpatpy;iy 

 

96. If 
4

4

1
23x

x
  , then the value of 

2
1

x
x

 
 

 
will be 

 a. -3  b. 3  c. 7  d. -7  e. Answer not known 

 
4

4

1
23x

x
   vdpy;,  

2
1

x
x

 
 

 
kjpg;G fhz;f 

 a. -3  b. 3  c. 7  d. -7  e. tpil njhpatpy;iy 
 
97. By looking in a mirror, it appears that it is 6 : 30 in the clock  What is the real 

time ? 
a. 6 : 30   b 5 : 30    c. 6 : 00   
d. 4 : 30  e. Answer not known 
xU fbfhuj;ij fz;zhbapy; ghh;j;jhy; Neuk; 6.30 vd;W njhpfpwJ vdpy; 
cz;ikahd Neuk; vd;d? 
a. 6 : 30   b 5 : 30    c. 6 : 00   
d. 4 : 30  e. tpil njhpatpy;iy 

 

98. Find the number of terms in the G.P. 
1 1 1 1

, ....
3 9 27 2187

 

a. 12   b 8  c. 7  d. 13   e. Answer not known 
gpd;tUk; ngUf;Fj; njhlh; thpirapy; cs;s cWg;Gfspd; vz;zpf;ifiaf; 
fhz;f 
1 1 1 1

, ....
3 9 27 2187

 

a. 12   b 8  c. 7  d. 13    e. tpil njhpatpy;iy 
 

99. Find the difference in C.I and S.I for P = ₹8000, r = 5% p.a, n = 3 years 
a. 61%   b. 20%     c. 42 %   
d. 35%   e. Answer not known 
P = ₹ 8000> Mz;L tl;b tPjk; r = 5%, n = 3 Mz;Lfs;. jdp tl;bf;Fk; $l;L 
tl;bf;Fk; ,ilNaAs;s tpj;jpahrj;ijf; fhz;f 
a. 61%   b. 20%     c. 42 %   
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d. 35%   e. tpil njhpatpy;iy 
100. Identify the correct statements about PM DAKSH Scheme 

I. It is a portal aimed to make skill development schemes accessible to 
target groups 

II. It is implemented by Ministry of Skill Development 
a. I only   b. II only    c. Both I and II 
d. Neither I nor II  e. Answer not known 
PM DAKSH jpl;lk; Fwpj;j rhpahd $w;Wfisf; fz;lwpf  
I. ,yf;F eph;zapf;fg;gl;l FOf;fis jpwd;Nkk;ghl;Lj; jpl;lq;fis mZfr; 

nra;tNj ,j;jpl;lj;jpd; Nehf;fkhFk;. 
II. ,j;jpl;lk; kj;jpa jpwd; Nkk;ghl;L mikr;rfj;jhy; nray;gLj;jg;gLfpwJ. 
a. I kl;Lk;    b. II kl;Lk;   c. I, II ,uz;Lk; 
d. I kw;Wk; II ,uz;Lky;y  e. tpil njhpatpy;iy 
 

101. Choose the correct meaning for the idiom “on the ball” 
a. Treat the player nicely   b. Argue with umpire 
c. understand the situation well  d. move gently with the colleague 
e. Answer not known 
 

102. Choose the appropriate meaning for idiom “over the moon” 
a. extremely agile  b. extremely happy  c. extremely visible  
d. extremely attentive e. Answer not known 
 

103. Choose the correct combination for compound word “honey-sweet” 
a. Adjective + Noun  b. Adverb + Noun 
c. Noun + Adjective  d. Noun + Verb 
e. Answer not known 
 

104. Choose the correct combination for the compound verb: Clear Cut 
a. Adjective + Noun  b. Noun + Noun c. Noun + Verb   
d. Adjective + Verb  e. Answer not known 
 

105. Choose the correct combination for compound word: daydream 
a. Noun + Noun  b. Noun + Verb  c. Adjective + Verb 
d. Verb + Noun  e. Answer not known 
 

106. The child hid ______ the stairs when the mother called her for a bath 
a. among   b. upon   c. above   
d. under   e. Answer not known 
 

107. Let‟s go to the beach ______? 
a. don‟t we   b. do we   c. shall we 
d. didn‟t we   e. Answer not known 

 

108. The caricature is very funny ____? 
a. is it    b. does it   c. doesn‟t  
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d. isn‟t it   e. Answer not known 
109. The birds are flying gracefully in the sky 

a. SVOA  b. SVAA   c. SVOC 
d. SVCA  e. Answer not known 
 

110. We met a great writer in the library 
a. SVOA  b. SVOC   c. SVIODO 
d. SVO  e. Answer not known 
 

111. Varun‟s ______ daughter ______ well to the new situation 
a. adapted, adopted  b. adopted, adapted  c. adap‟s, adoopted  
d. None   e. Answer not known 
 

112. Select the correct voice 
She was writing letters/letters ________ 

 a. are    b. were   c. was being 
d. were being  e. Answer not known 
 

113. Pick out the correct answer 
He went on a diet because he ______ (eat) too much 
a. had eating   b. eating   c. had been eating 
d. were eating  e. Answer not known 
 

114. Fill in the blank with correct tense of the verb given 
She (work) at the company for ten years by the time 
a. working    b. had been working c. will working 
d. will have been working  e. Answer not known 
 

115. Choose the correct tense form 
It ______ (rain) now. 
a. was raining  b. is raining    c. was rain 
d. have been rained  e. Answer not known 
 

116. The American English word for “mad” 
a. stupid   b. beggar    c. creek 
d. crazy   e. Answer not known 
 

117. The British English word for “crib” 
a. car    b. cotton   c. curtains 
d. cot    e. Answer not known 
 

118. They began about a quarter past _____ one in the morning 
a. a    b. an    c. the   
d. no article   e. Answer not known 
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119. Match the following 

A. Carry off   1. Continue 
B. Carry on   2. Perform 
C. Carry out   3. Win, snatch 
 A B C 
a. 1 2 3 
b. 3 1 2 
c. 3 2 1 
d. 2 1 3 
e. Answer not known 
 

120. The correct plural form of “octopus” 
a. Octopuseis  b. Octopus   c. Octopii 
d. Octopi  e. Answer not known 
 

121. Form a derivative by adding the right prefix to the word “argue” 
a. contra  b. counter   c. bi   
d. pre   e. Answer not known 
 

122. Choose the following blending words for “paratroops” 
a. para + troop  b. parachute + troop c. parachute + troops 
d. paraarmy + troop  e. Answer not known 
 

123. Pick out the complex sentence from the option 
1. The old man was weak therefore he could not walk properly 
2. She must work hard otherwise she will not be successful in the examination 
3. The thief fled away when he saw the police man 
4. You must not be late or you will not be allowed entry 
a. 1  b. 4  c. 3  d. 2  e. Answer not known 
 

124. Pick out the compound sentence from the option 
1. Nobody could find out the place of their stay 
2. The purpose of his visit to this place is not known 
3. On seeing the policeman, the thief fled away 
4. You must not be late or you will not be allowed 
a. 1  b. 2  c. 3  d. 4  e. Answer not known 
 

125. Pick out the simple sentence 
1. He writes the letter and put it in an envelope 
2. Let‟s forgive them because, they are ignorant 
3. When she heard the bad news, she fainted 
4. On hearing the bad news, she fainted 
a. 4  b. 2  c. 3  d. 1  e. Answer not known 
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126. Sathish is _____ than Ramesh 

a. as tall as  b. the tallest     c. taller 
d. more tall  e. Answer not known 
 

127. Expanded form of the acronym: TOEFL 
a. Test of English as a Foreign Language 
b. Test of English as a First Language 
c. Test of English as a Formal Literature 
d. Test of English as a Familiar Language 
e. Answer not known 

 
128. Give Synonym: Swooped 

a. leap    b. rush   c. move very quickly 
d. ascend   e. Answer not known 
 

129. Give antonym: Mockingly 
a. Disrespectfully  b. ridiculously  c. jeeringly 
d. respectfully  e. Answer not known 

 
130. Identify the simple sentence 

a. She is so weak that she cannot walk 
b. She is too weak to walk 
c. She is very weak and so he cannot walk 
d. She is weak otherwise she will walk 
e. Answer not known 

 
131. Fill in the conditional clause appropriately 

If I ______ (be) a bird, I _____ (fly) 
a. will, can   b. were, would  c. could, will 
d. will, would  e. Answer not known 
 

132. Choose the most appropriate form of the verb 
They learned how _____ in space without gravity 
a. survive   b. surviving  c. to survive 
d. survived   e. Answer not known 
 

133. Choose the right blending word for “diplonomics” 
a. Diplo + economics b. Diplomacy + economy 
c. Diplo + economy  d. Diplomacy + economics 
 

134. Choose the right one study of “ichthyology” is called 
a. Bats   b. Fish     c. Cats 
d. Dogs  e. Answer not known 
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135. If I met him, I _____ to him 

a. will speak    b. would speak 
c. would have spoken  d. would be suffered 
e. Answer not known 
 

136. Match the poetic lines from column A with the correct poetic devices from 
column B 
A. Watch his wood  1. Transferred epithet 
B. Little river   2. Alliteration 
C. She is a lioness  3. Epithet 
D. Winter Starved   4. Metaphor 
 A B C D 
a. 4 3 1 2 
b. 2 3 4 1 
c. 2 3 1 4 
d. 4 2 3 1 
e. Answer not known 
 

137. “Over rock; by rose – bank, sweeping like impetuous youth” 
Which stage of man is compared here? 
a. Youth   b. Adult   c. infant 
d. old age   e. Answer not known 
 

138. I was angry with my friend 
I told my wrath, my wrath did end  
I was angry with my Foe 
I told it not, my wrath did grow 
Choose the correct rhyming word 
a. abab   b. aabb   c. abba 
d. abbc   e. Answer not known 
 

139. What is the figure of speech employed in the following line? 
“Our hells of fire and dust outrage the innocence” 
a. metaphor   b. personification  c. simile 
d. connotation  e. Answer not known 
 

140. It just “sits there, never getting small or ever growing tall” 
To whom does „sits there…. refer to? 

 a. Land  b. House   c. Man  
d. Tree  e. Answer not known 
 

141. The poem “Bird Sanctuary” was written by 
a. Salim Ali    b. Indira Gandhi  c. Sarojini Naidu 



 

36 | Page  044-24339436, 42867555, 9840226187 
 

d. Lucy maud Montgomery e. Answer not known 
142. Which day is declared as UN English language day”? 

a. April 23  b. November 17  c. January 25 
d. October 1  e. Answer not known 
 

143. The poet “Hector hugh munto” was popularly known by her per name 
a. Damos  b. George Eliot  c. Stevenson 
d. Saki   e. Answer not known 
 

144. Caroline Ann Bowles lived in ________ and ______ poet 
a. 1786 – 1854, English poet b. 1711-1799, American poet 
c. 1876-1921, English poet  d. 1819-1880, English poet 
e. Answer not known 
 

145. Find the “odd” one out 
a. The Little Lady Bird  b. Lamp and the Tiger 
c. Chapter on Church Yard  d. Tales of the Factories 
e. Answer not known 
 

146. Find the “odd one out 
1. princes  2. Savaska   
3. Mr. Behram 4. Treasure Island 
a. 2, 3 only  b. 3, 4 only    c. 4 only   
d. 1 only  e. Answer not known 
 

147. William Shakespeare wrote ________ plays and _____ sonnets 
a. 73 plays, 541 sonnets  b. 37 plays, 153 sonnets 
c. 38 plays, 351 sonnets  d. 37 plays, 154 sonnets 
e. Answer not known 
 

148. Who is considered a seminal figure in the history of English poetry? 
a. William Shakespeare b. William Blake   
c. Rudyard Kipling  d. Ruskin Bond 
e. Answer not known 
 

149. The poem “Making Life Worth While” was written by 
a. George Eliot  b. John Keats   c. John Masefield 
d. Henry Van Dyke  e. Answer not known 
 

150. Mary Ann Evans wrote _____ Novels? 
a. 6  b. 7  c. 8  d. 9 e. Answer not known 
 

151. Aesop was a ______ and story teller believed to have lived in ancient _____ 
between _______ 
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a. Businessman, Rome, 520 and 664 BCE 
b. Slave, Greece, 620 and 564 BCE 
c. Slave, Greece 520 and 664 BCE 
d. Robot, Persian 620 and 564 BCE 
e. Answer not known 
 

152. From the following poets who received the “Atlantic – rockfeller award and 
“Keats Prize” 
a. John Keats    b. Edgar Albertguest  
c. John Masefield   d. James Falconer Kirkup 
e. Answer not known 
 

153. The Novel “Vanity Fair” is one the finest and best known Novel in English 
literature which was written by? 
a. Robert Louis Stevenson  b. William Makepeace Thackeray 
c. Nancy Thatcher   d. William Wordsworth 
e. Answer not known 
 

154. From which of the following poet is known as people‟s poet? 
a. David Bates   b. Edgar Albert Guest 
c. John Masefield   d. Nisha Dyrene 
e. Answer not known 
 

155. “And Charging along like “troops in a battle”  
What is the figure of speech use here? 
a. Metaphor   b. Anaphora   c. Personification 
d. Simile   e. Answer not known 
 

156. “Some water, Coal and oil is all we ask, and a thousandth of an inch to give us 
play”  
What do they mean by “give us play”? 
a. to fix the machine   b. to switch the machine 
c. to stop the machine  d. to run the machine 
e. Answer not known 
 

157. A ______ is need for the darkening sky 
a. Aim    b. Happiness    c. Courage 
d. promises   e. Answer not known 
 

158. The weather in the poem “The ant and the cricket” was 
a. rainy and stromy  b. cold and dry  c. gay and warm  
d. hot and sunny  e. Answer not known 
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159. “Tis the prettiest little parlor” – Identify the figure of speech 

a. assonance  b. repetition    c. alliteration 
d. anaphora  e. Answer not known 
 

160. The sea is like ________ 
a. sail   b. line     c. eternity 
d. river  e. Answer not known 
 

161. River River! Headlong river! 
Identify the figure of speech 
a. Anaphora  b. Personification  c. metaphor 
d. Epithet   e. Answer not known 
 

162. “Still seeking what I sought when but a boy” 
Who wrote the above poem? 
a. John keats   b. Rakhi Narieni Shirke  c. Nadia Bush 
d. Henry Van dyke  e. Answer not known 
 

163. The poem “No men are Foreign” and the poem on Killing a Tree” were 
published on 
a. 1966  b. 1986   c. 1956   
d. 1976  e. Answer not known 
 

164. Find the figure of speech mentioned 
“To watch his wood fill up with snow” 
a. Assonance   b. hyperbole    c. oxymoron 
d. personification  e. Answer not known 
 

165. “Let no one shame you or make you feel bad” Identify the poem 
a. Life   b. No men are foreign c. Stick together families  
d. Lessons in life e. Answer not known 
 

166. The best example for “Assonance” is 
a. Which we live  b. all we ask   c. run and race  
d. Starts will shine  e. Answer not known 
 

167. Says he, “The mystery I‟ve found 
Says he, “The mystery I‟ve found 
Who wrote the above line? 
a. John Keats   b. Nadia bush   
c. Lessons in Life  d. William Makepeace Thackeray 
e. Answer not known 
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168. “I just wanted you to know” 

That you re my special hero” 
Who is the “speaker” in this poem? 
a. Father   b. Christiana M. Kerschen  c. Brother  
d. Mary Ann Evans  e. Answer not known 
 

169. Here is a tramp who stands and gazes; 
And there is the green for stringing the daisies 
What is meaning for the word “Tramp” 
a. Person who travels from place to place on foot 
b. Regretting the objects 
c. The objects that seen through the Window 
d. Speed of the brain 
e. Answer not known 

 
170. “Here is a cart run away in the road” 

Identify the poem 
a. Life    b. From a railway carriage   c. Courage 
d. I am every women e. Answer not known 
 

171. Who is the author of the story The Cat and the Pain Killer? 
a. Ruskin Bond   b. Mark Twain 
c. William Temple Hornaday d. Thackery 
e. Answer not known 
 

172. What was the age of Peter? 
a. 10   b. 7  c. 8 d. 12  e. Answer not known  
 

173. Who was the son of Sycorax? 
a. Caliban  b. Antonio    c. Gonzalo  
d. Prospero  e. Answer not known 
 

174. Who is the narrator of the story in The Last Lesson? 
a. Alphonse Daudet   b. Hamel   c. Franz 
d. Angelus    e. Answer not known 
 

175. The Jungle Book was published in the year _________ 
a. 1894  b. 1896     c. 1892 
d. 1895  e. Answer not known 
 

176. “Had it not been for Sir, I would not be the cricketer” 
Who is the „Sir‟ here? 
a. Sunil Gavaskar  b. Viv Richards   c. Achrekar 
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d. Sachin Tendulkar  e. Answer not known 
177. Total runs scored by Tendulkar by playing 664 matches ______ 

a. 34,357  b. 32,357    c. 33,357  
d. 31,357  e. Answer not known 
 

178. Who said to Peter „don‟t ask for it unless you want it? 
a. Tom  b. Bocky Thatchar   c. Pally 
d. Mark Twain e. Answer not known 
 

179. Sir C.V. Raman was awarded the Bharat Ratna in the year _______ 
a. 1954  b. 1964    c. 1952 
d. 1953  e. Answer not known 
 

180. Which is often described as „larger than Texas‟? 
a. Pacific Ocean between Hawaii and California 
b. Pacific Ocean between Hawaii and Ohio 
c. Pacific Ocean between Hawaii and New York 
d. Pacific Ocean between Hawaii and Washington 
e. Answer not known 

 
181. Name the American author who was a Zoologist, taxidermist and 

conservationist __________ 
a. Mark Twain  b. William Temple  c. Conan Doyal 
d. Alphonse Daudet  e. Answer not known 
 

182. Match the following  
A. God Zero infinity  1. Aaron Shepard  
B. ATM    2. A.K. Ramanujan 
C. Savitri    3. Einstein  
D. From Zero to infinity  4. John Shephard Barron  
 A B C D 
a. 2 4 3 1 
b. 2 4 1 3 
c.  4 3 2 1 
d. 1 2 3 4 
e. Answer not known 
 

183.  Nehru wrote a letter to his daughter about Bapuji from Naini prison on 
_________ 
a. 24 October, 1930  b. 26 October, 1930  c. 28 October, 1930 
d. 23 October, 1930  e. Answer not known 
 

184. Anne Frank is known for her 
a. Poems  b. Plays    c. Dairies 
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d. essays  e. Answer not known 
 

185. The young seagull had ______ brothers 
a. 2   b. 3     c. 1   
d. None  e. Answer not known 
 

186. “I cannot think, my mind is gone help me” 
Whose words are these? 
a. Holmes   b. smith    c. Morton 
d. Mrs. Hudson  e. Answer not known 
 

187. Little Czar was a ________ 
a. European Brown Bear  b. Polar Bear 
c. American Black Bear  d. Cub from Alaska 
e. Answer not known 
 

188. Who was remarked, „I love to hear about mechanical contrivances – such as the 
water – clock and little windmill‟? 
a. Sir Issac Newton   b. George   c. Hawthorne 
d. Einstein   e. Answer not known 
 

189. Which novel won Ruskin Bond the John Rhys Memorial Award? 
a. An Island of Trees b. The India I Love 
c. Room on the Roof  d. A bond with Mountains 
e. Answer not known 
 

190. Who consoled the little girl by saying “let us search and find it”? 
a. Ramayya  b. Meenakshi Ammal  c. Kuppayi 
d. Male Bird  e. Answer not known 
 

191. Who among the following is Chennai based author? 
a. Asha Nehemiah  b. Raki narayini 
c. Nisha Pandey  d. A.K. Ramanujan 
e. Answer not known 
 

192. Match the following 
A. Father of Neurology  1. Ludwig Guttmann 
B. Father of Science Fiction  2. Silas Weir Mitchell 
C. Father of Para-Olympics 3. Pierre de Coubertin 
D. Father of Olympics  4. Jules Verne 
 A B C D 
a. 2 4 3 1 
b. 1 2 3 4 
c. 2 4 1 3 
d. 1 3 2 4 
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e. Answer not known 
193. The first e-mail was sent by ______ 

a. Jules Verne  b. Isacc Asimov  c. Ray Tomlinson 
d. Siva Ayyadurai  e. Answer not known 
 

194. The Adventures of Don Quixote was penned by _________ 
a. Aesop    b. Cervantes   c. Alvin Toffler 
d. Julus Verne  e. Answer not known 
 

195. Match the following 
A. The Castle    1. Alfred Tennyson 
B. Our Casuarina Tree  2. Robert Browing 
C. Ulysses    3. Toru Dutt 
D. Incident of the French Camp 4. Edwin Muir 
 A B C D 
a. 4 3 2 1 
b. 4 3 1 2 
c. 3 4 2 1 
d. 1 2 3 4 
e. Answer not known 
 
Read the following paragraph carefully and answer the questions (196-200) 
 
When Andrew Carnegie came to America from Scotland, he was just a lad. He 
started out by running errands and ended up as one of the largest steel 
manufactures in the United States. 
 
Someone once asked Mr. Carnegie how he dealt with people. Andrew Carnegie 
replied, “Dealing with people is a lot like digging for gold. When you go 
digging for an ounce of gold, you have to move tons of dirt. But when you go 
digging, you don‟t go looking for the dirt, you go looking for the gold.” 
 
Andrew Carnegie‟s reply has a very important message. Though sometimes it 
may not be apparent, there is something positive in every person and every 
situation. WE have to look deep for the positive. 
 

196. Andrew Carnegie came from _____ 
a. England  b. Scotland    c. Ireland 
d. Finland  e. Answer not known 
 

197. When he came to America, he was ________ 
a. An old man b. A young boy   c. a rich man 
d. a poor man e. Answer not known 
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198. He started out by doing _____ 

a. Manuel work  b. Clerical work   c. odd jobs 
d. white collar jobs  e. Answer not known 

 
199. Dealing with people is a lot like digging for _________ 

a. Dirt    b. Gold    c. silver 
d. ore    e. Answer not known 
 

200. We have to dig ____ to look for the positive 
a. Gently   b. Fast     c. around 
d. Deep   e. Answer not known 
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MODEL EXAMINATION  

GENERAL STUDIES WITH GENERAL ENGLISH 
 
Duration : Three Hours                               Total Marks : 300 
 
Read the following instructions carefully before you begin to answer the questions. 
 

IMPORTANT INSTRUCTIONS 
 

1. You will be supplied with this question booklet 15 minutes prior to the commencement of the 
examination. 
 

2. This question booklet contains 200 questions. Before answering the questions, you are 
requested to check whether all the questions are printed serially and ensure that there are no 
blank pages in the question booklet. If any defect is noticed in the question booklet, it shall be 
reported to the invigilator within the first 10 minutes and get it replaced with a complete 
question booklet. If the defect is reported after the commencement of the examination, it will 
not be replaced. 
 

3. Answer all the questions. All the questions carry equal marks. 
 

4. You must write your register number in the space provided on the top right side of this page. 
Do not write anything else on the question booklet. 
 

5. An answer sheet will be supplied to you separately by the room invigilator to shade the 
answers. Instructions regarding filling of answers etc., which are to be followed mandatorily, 
are provided in the answer sheet and in the memorandum of admission (Hall Ticket). 
 

6. You shall write and shade your question booklet number in the space provided on page one 

of the answer sheet with BLACK INK BALL POINT PEN. If you do not shade correctly or fail 
to shade the question booklet number, your answer sheet will be invalidated. 
 

7. Each question comprises of five responses (answers): i.e. (A), (B), (C), (D) and (E). You have 
to select ONLY ONE correct answer from (A) or (B) or (C) or (D) and shade the same in your 

answer sheet. If you feel that there are more than one correct answer, shade the one which you 
consider the best. If you do not know the answer, you have to mandatorily shade (E). In any 
case, choose ONLY ONE answer for each question. If you shade more than one answer for a 
question, it will be treated as a wrong answer even if one of the given answers happens to be 
correct. 
 

8. You should not remove or tear off any sheet from this question booklet. You are not allowed to 
take this question booklet and the answer sheet out of the examination room during the time of 
the examination. After the examination, you must hand over your answer sheet to the 
invigilator. You are allowed to take the question booklet with you only after the examination is 
over. 
 

9. You should not make any marking in the question booklet except in the sheets before the last 
page of the question booklet, which can be used for rough work. This should be strictly 
adhered to. 

 
10. In all matters, the English version is final. 
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11. Failure to comply with any of the above instructions will render you liable for such action as 
the Commission may decide at their discretion. 


